PROCEEDINGS OF THE TENDER ACCEPTING COMMITTEE MEETING OF INSTITUTE OF NEPHRO-UROLOGY FOR THE PROCUREMENT OF DRUGS, DISPOSABLES & MISCELLANEOUS AND SUTURE ITEMS TO THIS INSTTITUTE HELD ON 03.09.2013 AT 11.00 A.M. UNDER THE CHAIRMANSHIP OF DR.G.K.VENKATESH AT THE CHAMBER OF DIRECTOR, INSTITUTE OF NEPHRO-UROLOGY, BANGALORE.

Members Present:

1. Dr. G.K. Venkatesh,

Chairman

Director.

Institute of Nephro-Urology. Victoria Hospital Campus,

Bangalore -02.

2. Dr. Kamath Anant Janardhan

Member

Medical Superintendent

Institute of Nephro-Urology.

Victoria Hospital Campus,

Bangalore – 02.

3. Smt. H.K. Anusuya,

Internal Financial Advisor,

Health & Family Welfare Services

Vikasa Soudha,

Bangalore.

4. Sri. Iteshamul-huq,

Chief Administrative Officer, Institute of Nephro-Urology.

Bangalore.

Member Secretary

Member

HOD'S PRESENT

 Dr. C.S. Ratkal, Prof. & H.O.D. of Urology. Institute of Nephro-Urology, Bangalore.

 Dr. S.M. Shivaprasad, Asso. Prof. of Nephrology, Institute of Nephro-Urology, Bangalore.

3. Dr. Pradeep M.S.

Asst. Prof. of Anesthesiology Institute of Nephro-Urology, Bangalore.

The Member Secretary welcomed the Chairman, member and requested the Chairman to preside over and conduct the meeting.

The following subjects were discussed and decisions taken were as follows:

To Confirm the Tender Inviting Committee Meeting Proceedings held on 17.08.2013.
 The Tender Inviting Committee meetings proceedings dated 17.08.2013 were read and confirmed.

To evaluate the price bids of the qualified Tenders for the procurement of Drugs, Disposables and Miscellaneous & Suture Items.

As per the decision taken in the Tender Inviting Committee meeting held on 17.08.2013 the committee evaluated the price bids of Drugs, Disposables and Miscellaneous and Suture items to this institute.

Further, the Member Secretary informed that the Tenders received pertaining to Drugs, Disposables, Miscelleaneous and Suture items, were evaluated by the Scrutiny Committee after testing the samples. The samples were tested by the experts and the concerned user departments.

The committee evaluated all the price bids of qualified tenders. Smt. H.K. Anusuya, Internal Financial Advisor, Health & Family Welfare Services Vikasa Soudha, Bangalore, Member of Tender Accepting Committeed informed the committee that single price bids cannot be accepted as per the KTPP Act. The committee after detailed discussion and considering the legal opinion of Sri. N.K. Ramesh, Legal Advisor of this institute, decided not to accept the items which carries single price bid. And accept L1 tenders incase of more tenders received as stated hereunder:

Sl. No.	Name of the Item	Strength/ Specificati on	Unit	Qty	Name of the Tenderer	Make	Unit Rate (Incl. of Vat)	Total Amount in Rs.	Statu s
Inject	ions								
1	Inj. Amikacin	500mg	vials	5000	M/s. Nisha Pharmaceuticals	DHRUV LIFE SCIENCE LTD	8.59825	42991.25	L1
	I.P.				M/s. Sri Maruthi Pharma	SCOTT-EDIL	8.74	43700	L2
					M/s. Rajalaxmi Agencies	JACKSON LABORATORIE S	8.89	44450	L3
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Glykacin 500mg 2ml vial	11.61	58050	L4
					M/s. Micro Labs Ltd	ERKACIN-500 INJECTION	28.45	142250	L5
					erers and after evaluated decided to accept	ation, the committee of the same.	determined the	he prices quote	ed by
2	Inj. Adrenaline Tartrate I.P.	0.7361	1ml/ Amps	3000	M/s. Rajalaxmi Agencies	JACKSON LABORATORIE S	2.21	6630	L1
					M/s. Sanjay Pharma Distributors	Harson lab	4.95	14850	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by **M/s. Rajalaxmi Agencies** as lowest evaluated price and decided to accept the same.

3	Inj. Amoxycillin + Clavulanic Acid I.P.	1000+200 mg	vials	4500	M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P/MEDICON	34.57	155565	L1
					M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	35.00	157500	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Glanclav 1.2gm	45.37	204165	L3
					M/s. Micro Labs Ltd	BACTOCLAV INJECTION	68.58	308610	L4
					s and after evaluation ided to accept the sa		etermined th	e prices quote	d by
4	Inj. Amphotericin B (Amended as Inj. Lyposamal Amphotericin B)	50mg/Vial	Vial	100	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Bharat Serums - Amphotret 50mg	126.600	12660.000	L1
The co	ommittee decided ne	ot to accept Sing	gle Price Bi	d.					
5	Inj. Anti Thymocyte Globulin	25 mg/Vial	Vial	10		NO TENDERS	RECEIVEI)	
6	Inj. Artesunate	60mg	vials	100	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	27.30	2730.00	L1
					M/s. Sri Maruthi Pharma	SCOTT-EDIL	28.52	2852	L2
					M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT	41.145	4114.50	L3
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Glansunate 60mg vial	43.26	4326.00	L4
					s and after evaluation		etermined th	e prices quote	d by
M/s. F	Rajalaxmi Agencies Inj. Atracurium	s as lowest evalues evalues evalues as lowest evalues	uated price 2.5ml	and decided	ded to accept the san	ne. M/s. Vital			
,	U.S.P.	Tonighii	amps	400	M/s. Liva Healthcare	Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	33.00	13200.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Themis Medicare - Atacurium 2.5ml	44.31	17724	L2
					s and after evaluation	on, the committee de	etermined th	e prices quote	d by
8	iva Healthcare as Inj. Atropine I.P.	0.6mg/ml	1ml / Amps	4000	M/s. Sanjay Pharma Distributors	Harson lab	2.45	9800.00	L1
The co	ommittee decided no	ot to accept Sing	gle Price Bi	d.		T			
9	Inj. Azithromycin	500mg	vials	500	M/s. Vijay Agencies	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDER
10	Inj. Basiliximab	20mg/Vial	Vial	5		NO TENDERS	RECEIVEI	<u> </u> 	
11	Inj.	0.50%	4ml	1700	M/s. Sanjay	Harson lab	10.40	17680.00	L1
L			•			•	i	•	

	Bupivacaine Heavy U.S.P.		amps		Pharma Distributors				
					M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	14.31	24327.00	L2
The Co	ommittee evaluated	the price bids o	f the above	tenderer	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd s and after evaluation	Themis Medicare - Bupicaine heavy 4ml	17.41	29597.00	L3
					and decided to acce	pt the same.		prioco quoto	
12	Inj. Bupivacaine I.P.	0.50%	20ml vial	200	M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	30.50	6100.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Themis Medicare - Bupicain 20ml	42.20	8440.00	L2
					s and after evaluation	on, the committee do	etermined th	le prices quoted	l by
13	Liva Healthcare as Inj. Calcium	0.1375g/ml	10ml	750	to accept the same.				
	Gluconate	(Equivalent to 10% Calcium Gluconate)	amps.	,,,	M/s. Sanjay Pharma Distributors	Harson lab	8.50	6375.00	L1
	mmittee decided n	ot to accept Sing							
14	Inj.Caspofungin Acitate	50mg/Vial	Vial	10	M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT	4589.25	45892.50	L1
The co	Inj.Caspofungin Acitate	ot to accept Sing 70mg/Vial	gle Price Bi Vial	d. 10	M/s. Vijay Agencies	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDER
15	Inj. Cefazolin	1Gm	vials	500	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	22.11	11055.00	L1
	mmittee decided no					I		<u> </u>	
16	Inj. Cefoperozone	1gm	vials	500	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	20.81	10405.00	L1
					M/s. Sri Maruthi Pharma	SCOTT-EDIL	35.00	17500.00	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Surkef 1gm vial	55.92	27960.00	L3
					s and after evaluation		etermined th	e prices quoted	d by
17	Inj. Cefoperozone + Sulbactam	0.5g/1g	vials	10000	led to accept the san M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P/MEDICON	27.12	271200.00	L1
	(Sulbacef) U.S.P.				M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	27.32	273200.00	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Glancef 1gm vial	45.37	453700.00	L3

					M/s. Nisha Pharmaceuticals	SYNNON	48.0025	480025.00	L4
					M/s. Micro Labs Ltd	CEFGLOBE S 1.5 GM	68.58	685800.00	L5
The C	ommittee evaluated	the price bids of	of the above	tenderer	s and after evaluation	on, the committee d	etermined th	ne prices quoted	l by
M/s. S	iri Maruthi Pharm	na as lowest eva	luated price	and deci	ided to accept the sa				-
18	Inj. Cefotaxime +Sulbactum	1gm+ 0.5gm	vials	1000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	23.41	23410.00	L1
					M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	26.90	26900.00	L2
The C	l ommittee evaluated	l the price bids o	of the above	tenderer	s and after evaluation	on, the committee d	etermined th	l ne prices quoted	d by
M/s. I	Rajalaxmi Agencie	s as lowest eval	uated price	and decid	ded to accept the san	ne.			
19	Inj. Cefotaxime U.S.P.	1gm	vials	1000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	13.00	13000.00	L1
					M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	15.96	15960.00	L2
					M/s. Nisha Pharmaceuticals	LUPIN	18.62005	18620.05	L3
					s and after evaluation		etermined th	ne prices quoted	d by
					ded to accept the san			1	
20	Inj. Ceftriaxone U.S.P.	1GM	vials	10000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	14.22	142200.00	L1
					M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	15.96	159600.00	L2
					M/s. Nisha Pharmaceuticals	DHRUV LIFE SCIENCE LTD	18.25	182500.00	L3
					M/s. Micro Labs Ltd	GRAMOCEF 1000MG INJ.	37.98	379800.00	L4
					s and after evaluation		etermined th	ne prices quoted	d by
			uated price		ded to accept the sar				
21	Inj. Ceftriaxone + Sulbactam U.S.P.	1gm+ 500mg	vials	15000	M/s. Sri Maruthi Pharma	SCOTT- EDIL/SKYMA P	21.47	322050.00	L1
					M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	23.40	351000.00	L2
					M/s. Micro Labs Ltd	GRAMOCEF - S INJECTION	58.03	870450.00	L3
					s and after evaluation	on, the committee d	etermined th	ne prices quoted	d by
					ided to accept the sa		T	T	T
22	Inj. Colistine	1 Million Units/10ml	Vial	100	M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT	337.60	33760.00	L1
		Vail			M/s. Sri Maruthi Pharma	MEDICON LAB	642.00	64200.00	L2
					s and after evaluation ecided to accept the		etermined th	ne prices quote	d by
23	Inj. Cotistin	1 Million Units/10ml Vail		100		er pre-bid meeting	proceedings	dtd. 15.06.201	13
24	Inj. Cyclphosphami de I.P.	500mg	vials	200	M/s. Kashyap Healthcares M/s. Om Pharma	TECHNICALL	Y NON-RES	SPONSIVE TE	NDER
24	Cyclphosphami	500mg	vials	200	Healthcares	TECHNICALL	Y NON-RES	SPONSIVE TI	E

25	Inj. Cyclphosphami de I.P.	200mg	vials	100	M/s. Om Pharma	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDEI
26	Ciproflaxacin I.V.	2mg/ ml	100ml/ bottle	300	M/s. Nisha Pharmaceuticals	NIRLIFE	15.825	4747.50	L1
27	Dexamethazone I.P.	4mg/ml	2ml/ vials	100	M/s. Sri Maruthi Pharma	SCOTT EDIL	4.55	455.00	L1
					M/s. Nisha Pharmaceuticals	LUPIN	5.697	569.70	L2
					s and after evaluation ded to accept the sa		etermined th	e prices quoted	l by
28	Dextrose I.P.	5%	500 ml	5000	M/s. Nisha				
20	Deatrose I.I.	370	/Bottle	3000	Pharmaceuticals M/s. Baxter	NIRLIFE	18.357	91785.00	L
					(India) Pvt. Ltd	D 5	19.15	95750.00	L
71 6			6.1. 1		M/s. Bangalore Surgicals	Ecoflac G% 500ml	57.56	287800.00	L:
					s and after evaluation ecided to accept the		etermined th	e prices quoted	ı by
29	Dextrose I.P.	25%	100ml/	3000	M/s. Nisha				
29	Dexirose I.F.	2370	Polycar	3000	Pharmaceuticals	NIRLIFE	13.715	41145.00	L
			bon bottles		M/s. Baxter (India) Pvt. Ltd	D 25	16.09	48270.00	L
					s and after evaluation		etermined th	e prices quoted	l by
					ecided to accept the	same.		Г	
30	Dextrose with Sodium	0.9%+5%	500ml / Polycar	12000	M/s. Nisha Pharmaceuticals	NIRLIFE	18.357	220284.00	L
	Chlolride		1		3.61 D .				
			bon bottles		M/s. Baxter (India) Pvt. Ltd	DNS	19.37	232440.00	L
	(DNS) I.P.				(India) Pvt. Ltd M/s. Bangalore	DNS Ecoflac DNS 500ml	19.37 57.56	232440.00 690720.00	
	(DNS) I.P.		bottles of the above		(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation	Ecoflac DNS 500ml on, the committee do	57.56	690720.00	L
1/s.]	(DNS) I.P. Committee evaluated Nisha Pharmaceuti	cals as lowest e	bottles of the above	ice and d	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation	Ecoflac DNS 500ml on, the committee do same.	57.56	690720.00	L
1/s.]	(DNS) I.P.		bottles of the above evaluated pr 3 Ltrs. /Polycar		(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE	57.56	690720.00	L l by
1/s.]	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine	cals as lowest e	bottles of the above evaluated pr 3 Ltrs.	ice and d	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha	Ecoflac DNS 500ml In, the committee desame. HEALTH LINE RUSOMA LABORATORI	57.56 etermined th	690720.00 ne prices quotec	L: L: L: L: L:
I/s. 1	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine Irrigation I.P.	icals as lowest e	bottles of the above evaluated pr 3 Ltrs. /Polycar bon Bottle	7000	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals M/s. Sri Maruthi Pharma	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE RUSOMA LABORATORI ES PVT LTD	57.56 etermined the 89.5695 118.68	690720.00 the prices quoted 626986.50 830760.00	L l by L
1/s. 1 31	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine Irrigation I.P.	1.50%	bottles of the above evaluated pr 3 Ltrs. /Polycar bon Bottle	7000 tenderer	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals M/s. Sri Maruthi Pharma s and after evaluation	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE RUSOMA LABORATORI ES PVT LTD on, the committee desame.	57.56 etermined the 89.5695 118.68	690720.00 the prices quoted 626986.50 830760.00	Li by L
<u>M/s. 1</u> 31	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine Irrigation I.P.	1.50%	bottles of the above evaluated pr 3 Ltrs. /Polycar bon Bottle	7000 tenderer	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Liva Healthcare	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE RUSOMA LABORATORI ES PVT LTD on, the committee desame.	57.56 etermined the 89.5695 118.68	690720.00 the prices quoted 626986.50 830760.00	L: I by L:
1/s. 1 31 The C	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine Irrigation I.P. Committee evaluated Nisha Pharmaceuti Heparin (Low molecular)Enox	1.50% I the price bids ocals as lowest e	bottles of the above evaluated pr 3 Ltrs. /Polycar bon Bottle of the above evaluated pr	7000 tenderer	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Liva Healthcare M/s. Micro Labs Ltd	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE RUSOMA LABORATORI ES PVT LTD on, the committee desame. M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical	57.56 etermined th 89.5695 118.68 etermined th	690720.00 the prices quoted 626986.50 830760.00 the prices quoted	Liby Liby
1/s. 1 31 The C	(DNS) I.P. Committee evaluated Nisha Pharmaceuti Glycine Irrigation I.P. Committee evaluated Nisha Pharmaceuti Heparin (Low molecular)Enox	1.50% I the price bids ocals as lowest e	bottles of the above evaluated pr 3 Ltrs. /Polycar bon Bottle of the above evaluated pr	7000 tenderer	(India) Pvt. Ltd M/s. Bangalore Surgicals s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Liva Healthcare	Ecoflac DNS 500ml on, the committee desame. HEALTH LINE RUSOMA LABORATORI ES PVT LTD on, the committee desame. M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	57.56 etermined th 89.5695 118.68 etermined th	690720.00 the prices quoted 626986.50 830760.00 the prices quoted 6250.00	L: I by L: I by

33	Inj. Diatrizoate Meglumine and Diatrizoate Sodium U.S.P.	76%	20ml Amp.	2500	M/s. Vijay Agencies	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDER
34	Inj. Diazepam IM/IV I.P.	5mg/ml	2ml amps	200	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	2.60	520.00	L1
The co	ommittee decided n			d.					
35	Inj. Diclofenac Sodium I.P.	25mg/ml	3ml amps	4000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	1.82	7280.00	L1
					M/s. Sri Maruthi Pharma	SCOTT EDIL	1.82	7280	L1
					M/s. Sanjay Pharma Distributors	Harson lab	1.99	7960.00	L2
					M/s. Micro Labs Ltd	DIVON INJECTION	3.69	14760.00	L3
					s and after evaluation			e prices quote	d by
M/s. F	Kajalaxmi Agencie Inj. Dopamine	s & Sri Maruth 200mg/ml	5ml/Am	as lowest	evaluated price and	JACKSON	ne same.		
30	inj. Dopanine	200mg/mi	ps ps	1000	M/s. Rajalaxmi Agencies	LABORATORI ES	9.06	9060.00	L1
					M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	9.30	9300.00	L2
					M/s. Nisha Pharmaceuticals	CHAANDRA BHAGAT	10.972	10972.00	L3
					s and after evaluation		etermined th	e prices quote	d by
37	Inj. Doripenem	500mg/Vial	Vials	100	led to accept the san M/s. Rajalaxmi Agencies	Shree Shyam	1041.00	104100.00	L1
	ommittee decided n					T			T
38	Inj. Electrolyte-P I.V I.P.	500ml	Polycar bon bottles	100	M/s. Baxter (India) Pvt. Ltd M/s. Nisha	E -P	23.82	2382.00	L1
			bottles		Pharmaceuticals	NIRLIFE	25.32	2532.00	L2
					s and after evaluation		etermined th	e prices quote	d by
		Ltd as lowest e			ecided to accept the				-
39	Inj. Enalaprilat	1.25mg/1ml Amps	Amps	100	M/s. Vimaldeep	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDER
40	Inj. Ephedrine	30mg/ml	1ml Amps	1500		NO TENDERS	RECEIVED)	
41	Inj. Esmolol	10mg/ml	5ml Vial	100	M/s. Rajalaxmi Agencies M/s. Om Pharma	TECHNICALLY	Y NON-RES	I SPONSIVE TE	NDER
	Inj. Etophyllin	25.3+84.7m	2ml	500	M/s. Sanjay				
42	+ Theophyllin I.P. Dommittee decided no	g/ml	amps		Pharma Distributors	Harson lab	2.26	1130.00	L1

43	Inj. Ferric Carboxy Maltase	500mg/Vial	Vial	1000		NO TENDERS	RECEIVEI)	
44	Inj. Frusemide I.P.	10mg/ml	2ml amps	35000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	1.70	59500.00	L1
					M/s. Sanjay Pharma Distributors	Harson lab	1.90	66500.00	L2
					s and after evaluation and to accept the sar		etermined th	ne prices quoted	l by
45	Inj. Gancyclovir	500 mg/Vial	Vial	100	M/s. Sri Maruthi Pharma		TES NOT (QUOTED	
					M/s. Vijay Agencies	TECHNICALLY	Y NON-RES	SPONSIVE TE	NDER
46	Inj. Gentamycin	40mg/ml	2ml/vial s	1000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	3.51	3510.00	L1
					M/s. Sri Maruthi Pharma	SCOTT EDIL	4.55	4550.00	L2
					M/s. Nisha Pharmaceuticals	LUPIN	4.642	4642.00	L3
					s and after evaluation		etermined th	ne prices quoted	l by
47	Inj. Glycopyrolate U.S.P.	0.2mg/ml	1ml amps	500	M/s. Sanjay Pharma Distributors	Harson lab	6.24	3120.00	L1
The co	ommittee decided n		gle Price Bi						
48	Inj. Heparin I.P.	5000 IU / vial	vials	30000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Heparin 5000 IU	30.17	905100.00	L1
					M/s. Nisha Pharmaceuticals	DHRUV LIFE SCIENCE LTD	31.439	943170.00	L2
					M/s. Shreyaas Enterprises	BIOLOGICAL. E	36.93	1107900.00	L3
					M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	39.81	1194300.00	L4
					s and after evaluation			ne prices quotec	l by
49	Inj. Heparin I.P.	25000 IU / vial	Lu as low	2000	ated price and decide M/s. Nisha Pharmaceuticals	DHRUV LFE SCIENCE LTD	94.528	189056.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Hepari 25000 IU	102.34	204680.00	L2
					M/s. Shreyaas Enterprises	BIOLOGICAL. E	110.78	221560.00	L3
					M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories	119.75	239500.00	L4

						Ltd / M/s. Troikaa Pharmaceutical s Ltd			
The C	l ommittee evaluated	the price bids of	f the above	tenderer	l s and after evaluatio		etermined th	le prices quote	d by
M/s. N	Nisha Pharmaceuti	icals as lowest e		ice and d	ecided to accept the	same.			
50	Inj. Human Insulin Actrapid	40U/ml	10ml vials	200	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Novo Nordisk - Human Actrapid 40 U / ml 10ml vial	118.60	23720.00	L1
51	ommittee decided n Inj. Human	30:70	10ml/	a. 250	M/s. R.S.	Novo Nordisk -			
31	Insulin Premixed	30.70	vials	230	Enterprises (Bangalore) Pvt. Ltd	Human Mixtard 40 U / ml 10ml vial	118.60	29650.00	L1
	ommittee decided n		gle Price Bi						
52	Inj. Hydrocartisone Sodium	100mg/ FDP	2ml vials	1500	M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	17.40	26100.00	L1
	Succinate I.P.				M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	18.37	27555.00	L2
					M/s. Nisha Pharmaceuticals	LUPIN	21.522	32283.00	L3
					s and after evaluation		etermined th	e prices quote	d by
53	Inj. Imipenem (Amended as	1gm (Amended as	iuated price	100	ided to accept the sa M/s. Rajalaxmi Agencies	Shree Shyam	242.99	24299.00	L1
	Imipenem Cilastatin	500mg)			M/s. Nisha Pharmaceuticals	SYNNON	472.64	47264.00	L2
	500mg)				M/s. Micro Labs Ltd	MICROMAX	580.25	58025.00	L3
					M/s. Sri Maruthi Pharma	MEDICON/SC OTT EDIL	590.00	59000.00	L4
					s and after evaluation ded to accept the san		etermined th	e prices quote	d by
54	Inj. Iron Sucrose U.S.P.	100mg/5ml	5ml amps	1000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	52.00	52000.00	L1
					M/s. Sri Maruthi Pharma	SCOTT-EDIL	52.75	52750.00	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Feroglan 5ml	73.85	73850.00	L3
					M/s. Micro Labs Ltd	MICROFER INJECTION	84.40	84400.00	L4
					s and after evaluation ded to accept the san		etermined th	e prices quote	d by
55	Inj. Isoflurane U.S.P.	250ml	Bottles	60	M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	1299.00	77940.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Abbott India Ltd Forane 250ml	1477.00	88620.00	L2

M/s.]	Committee evaluated Liva Healthcare as					on, the committee de	etermined th	e prices quoted	l by
56	Inj. Labetolol	20mg/4ml Amps	Amps	100	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	58.56	5856.00	L1
					M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	200.00	20000.00	L2
					s and after evaluation ded to accept the san		etermined th	e prices quoted	l by
57	Inj. Levoflaxacin	500mg	Bottles	700	M/s. Nisha Pharmaceuticals	LUPIN	18.8845	13219.15	L1
					M/s. Micro Labs Ltd	LEVOBACT INFUSION	33.76	23632.00	L2
					s and after evaluation		etermined th	e prices quoted	l by
58	Inj. Lignocaine	2%	30ml	1500	ecided to accept the	JACKSON			
	J. —-g	_,-	vials		M/s. Rajalaxmi Agencies	LABORATORI ES	9.10	13650.00	L1
					M/s. Sri Maruthi Pharma	SCOTT-EDIL	10.80	16200.00	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Themis Medicare - Xylox 30ml	17.41	26115.00	L3
					s and after evaluation ded to accept the san		etermined th	e prices quoted	l by
59	Inj. Lignocaine with adrenaline	2%	30ml vials	200	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	11.64	2328.00	L1
					M/s. Sri Maruthi Pharma	SCOTT-EDIL	11.80	2360.00	L2
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Themis Medicare - Xylox 30ml	18.99	3798.00	L3
					s and after evaluation ded to accept the san		etermined th	e prices quoted	l by
111/30									
60	Inj. Lorazepam	2mg/ml	2ml Amps	150	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	10.74	1611.00	L1
60 The c	Inj. Lorazepam ommittee decided n	2mg/ml ot to accept Sing	2ml Amps gle Price Bi	150 d.	M/s. Rajalaxmi Agencies	JACKSON LABORATORI	10.74	1611.00	L1
60	Inj. Lorazepam	2mg/ml	2ml Amps	150	M/s. Rajalaxmi Agencies M/s. Nisha Pharmaceuticals	JACKSON LABORATORI ES	10.74	1611.00	L1
60 The c	Inj. Lorazepam ommittee decided n	2mg/ml ot to accept Sing 600 mg/	2ml Amps gle Price Bi 300ml/	150 d.	M/s. Rajalaxmi Agencies M/s. Nisha Pharmaceuticals M/s. Micro Labs Ltd	JACKSON LABORATORI ES			
60 The c	Inj. Lorazepam ommittee decided n	2mg/ml ot to accept Sing 600 mg/	2ml Amps gle Price Bi 300ml/	150 d.	M/s. Rajalaxmi Agencies M/s. Nisha Pharmaceuticals M/s. Micro Labs	JACKSON LABORATORI ES SYNNON LINOSEPT I.V	80.18	40090.00	L1
60 The c 61	Inj. Lorazepam ommittee decided n Inj. Linezolid	2mg/ml ot to accept Sing 600 mg/ Bottle	2ml Amps gle Price Bi 300ml/ bottle	150 d. 500	M/s. Rajalaxmi Agencies M/s. Nisha Pharmaceuticals M/s. Micro Labs Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd s and after evaluation	JACKSON LABORATORI ES SYNNON LINOSEPT I.V 300ML Gland Pharma - Capzolid 300ml on, the committee do	80.18 89.68 99.17	40090.00 44840.00 49585.00	L1 L2 L3
60 The c 61	Inj. Lorazepam ommittee decided n Inj. Linezolid	2mg/ml ot to accept Sing 600 mg/ Bottle	2ml Amps gle Price Bi 300ml/ bottle	150 d. 500	M/s. Rajalaxmi Agencies M/s. Nisha Pharmaceuticals M/s. Micro Labs Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	JACKSON LABORATORI ES SYNNON LINOSEPT I.V 300ML Gland Pharma - Capzolid 300ml on, the committee do	80.18 89.68 99.17	40090.00 44840.00 49585.00	L1 L2 L3

63	Inj. Meropenem	0.5g. Vials with Water	Vial	2500	M/s. Rajalaxmi Agencies	SHYAM SHREE	146.05	365125.00	L1
		for Injection			M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	177.24	443100.00	L2
					M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT	209.945	524862.50	L3
					M/s. Micro Labs Ltd	FORINEM 500MG	235.27	588175.00	L4
					s and after evaluatio	n, the committee d	etermined th	ne prices quoted	l by
					led to accept the san		T	1	
64	Inj. Meropenem	1.0g. Vials with Water for Injection	Vial	2000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	273.18	546360.00	L1
					M/s. Nisha Pharmaceuticals	DHRUV LIFE SCENCE LTD	300.675	601350.00	L2
					M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	307.22	614440.00	L3
					M/s. Micro Labs Ltd	FORINEM 1G	446.27	892540.00	L4
					s and after evaluatio		etermined th	ne prices quoted	l by
					led to accept the san	ne.	1	1	
65	Inj. Midazolam	1mg/ml	5ml vials	1500	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Themis Medicare - Medzol 5ml	11.61	17415.00	L1
					M/s. Liva Healthcare	Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	15.30	22950.00	L2
					M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	20.81	31215.00	L3
					s and after evaluation ated price and decide			ne prices quoted	l by
66	Inj.	Inj.	5ml/	750	ned price and decide	l to accept the san	ile.	1	
	Myopyrolate	Neostigmine 2.5mg + Glycopyrolat e 0.5mg	Amps.		M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	27.31	20482.50	L1
The co	ommittee decided n	ot to accept Sing	le Price Bi	d.		T			
67	Inj. Nupogen	Prefilled Syringes		10	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	TECHNICALY	NON-RES	PONSIVE TEN	NDER
68	N S (Sodium Chloride) I.P.	0.90%	500ml Polycar	40000	M/s. Nisha Pharmaceuticals	NIRLIFE	16.7745	670980.00	L1
	, , , ,		bon bottles		M/s. Baxter (India) Pvt. Ltd	NS	17.83	713200.00	L2
					M/s. Bangalore Surgicals	Ecoflac NS 500ml	57.56	2302400.00	L3
					s and after evaluation ecided to accept the		etermined th	ne prices quoted	l by
69	N S 1000ml	0.90%	1000ml	30000	M/s. Nisha		25.555	020727.05	.
	(Sodium		Polycar	. ,	Pharmaceuticals	NIRLIFE	27.9575	838725.00	L1
					11				

	Chloride) I.P.		bon bottles		M/s. Bangalore Surgicals	Ecoflac NS 1000ml	77.74	2332200.00	L2
			of the above		s and after evaluation		etermined th	ne prices quoted	l by
70	N.S. 3000ml	0.90%	3000ml	3000	ecided to accept the M/s. Nisha	HEALTH			
, 0	14.5. 5000111	0.5070	Polycar	3000	Pharmaceuticals	LINE	89.5695	268708.50	L1
			bon			RUSOMA		226270.00	
			bottles		M/s. Sri Maruthi Pharma	LABORATORI	112.09	336270.00	L2
					Pharma	ES PVT LTD			
					s and after evaluation		etermined th	ne prices quoted	l by
1/s. N	Nisha Pharmaceuti		valuated pr	ice and d	ecided to accept the				
71	Inj.	5 mg/ml	10ml/	500	M/s. Sri Maruthi	MEDICON	15.20	7600.00	L1
	Nitroglycerin		Amps		Pharma	LAB	13.20	7000.00	Li
					M/s. Nisha	CHANDRA	15.4874	7743.70	L2
					Pharmaceuticals	BHAGAT	101.07.	,,,,,,,,	
						M/s. Vital			
						Healthcare Pvt.			
						Ltd / M/s.			
					M/s. Liva	Makeur	27.00	13500.00	12
					Healthcare	Laboratories Ltd / M/s.	27.00	13300.00	L3
						Troikaa			
						Pharmaceutical			
						s Ltd			
he C	ommittee evaluated	the price bids of	of the above	tenderer	s and after evaluation		etermined th	ne prices quoted	l by
					ided to accept the sa			1 1	,
72	Non-Ionic	Iohexal USP	50ml	1500	M/s. Sanjay				
	Contrast Media	equiv. to	Vial		Pharma				
		T 1'			Distributors				
		Iodine			Distributors				
		300mg,			Distributors				
		300mg, Tromethami			Distributors				
		300mg, Tromethami ne 1.2mg,			Distributors	TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate				TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate Calcium			M/s. Vijay Agencies	TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium			M/s. Vijay	TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg			M/s. Vijay	TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/			M/s. Vijay	TECHNICALY	NON-RES	PONSIVE TEN	NDER
		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg			M/s. Vijay	TECHNICALY	NON-RES	PONSIVE TEN	NDER
73	Inj. Nor	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/	Amps	2000	M/s. Vijay	TECHNICALY			
73	Inj. Nor Adrenaline	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg)	Amps	2000	M/s. Vijay Agencies		24.697	PONSIVE TEN 49394.00	
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg)	Amps	2000	M/s. Vijay Agencies M/s. Nisha	CHANDRA			NDER
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha	CHANDRA BHAGAT			
773		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha	CHANDRA BHAGAT M/s. Vital			
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur	24.697	49394.00	L1
773		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories			L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s.	24.697	49394.00	L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa	24.697	49394.00	L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical	24.697	49394.00	L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa	24.697	49394.00	
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	24.697	49394.00 53980.00	L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical	24.697	49394.00	L1
73		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	24.697	49394.00 53980.00	L1
773		300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate	Amps	2000	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd	24.697	49394.00 53980.00	L1
	Adrenaline	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml			M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON	24.697 26.99 29.90 33.09	49394.00 53980.00 59800.00 66180.00	L1 L2 L3
he C	Adrenaline ommittee evaluated	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml	of the above	e tenderer	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma s and after evaluation	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON n, the committee de	24.697 26.99 29.90 33.09	49394.00 53980.00 59800.00 66180.00	L1 L2 L3
he C	Adrenaline ommittee evaluated Sisha Pharmaceut	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml	of the above	e tenderer	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON n, the committee desame.	24.697 26.99 29.90 33.09 etermined th	49394.00 53980.00 59800.00 66180.00 ne prices quoted	L1 L2 L3 L4
he C	Adrenaline ommittee evaluated	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml	of the above valuated pri	tenderer	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Nisha	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON n, the committee desame. DHRUV LIFE	24.697 26.99 29.90 33.09	49394.00 53980.00 59800.00 66180.00	L1 L2 L3 L4
he C	ommittee evaluated	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml	of the above	tenderer	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON n, the committee desame.	24.697 26.99 29.90 33.09 etermined th	49394.00 53980.00 59800.00 66180.00 ne prices quoted	L1 L2 L3 L4
he C	ommittee evaluated	300mg, Tromethami ne 1.2mg, Etate Calcium Disodium 0.1mg (300mg/ 370mg) Noradrenalin e Bitartrate 2mg/ml	of the above valuated pri	tenderer	M/s. Vijay Agencies M/s. Nisha Pharmaceuticals M/s. Liva Healthcare M/s. Sanjay Pharma Distributors M/s. Sri Maruthi Pharma s and after evaluation ecided to accept the M/s. Nisha	CHANDRA BHAGAT M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa Pharmaceutical s Ltd Harson Lab MEDICON n, the committee desame. DHRUV LIFE	24.697 26.99 29.90 33.09 etermined th	49394.00 53980.00 59800.00 66180.00 ne prices quoted	L1 L2 L3 L4

M/s. N	Visha Pharmaceutica	als as lowest eva	luated pric	e and dec	eided to accept the sa	ame.			
75	Inj. Papavarin	30mg/ml	2ml amps	200	•	NO TENDERS	RECEIVEI)	
			•						
76	Inj. Paracetamol	75mg	2ml amps	100	M/s. Sanjay Pharma Distributors	Harson lab	2.84	284.00	L1
					M/s. Micro Labs Ltd	DOLO INJECTION	5.80	580.00	L2
					s and after evaluatio	n, the committee de	etermined th	ne prices quoted	l by
					and decided to acce	pt the same.		1	
77	Inj. Paracetamol	1000mg/100 ml	100ml Bottle	500	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Paraglan IV 100ml bottle	59.08	29540.00	L1
					M/s. Nisha Pharmaceuticals	SYNNON	71.74	35870.00	L2
					M/s. Micro Labs Ltd	DOLO INFUSION	84.40	42200.00	L3
The C	ommittee evaluated	the price bids o	of the above	tenderer	s and after evaluatio	n, the committee de	etermined th	ne prices quoted	l by
M/s. F	R.S. Enterprises (B		Ltd as low	est evalua	ated price and decide	ed to accept the san			
78	Inj. Pentaprozole	40mg.	10ml vial.	10000	M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	11.84	118400.00	L1
					M/s. Nisha Pharmaceuticals	DHRUV LIFE SCIENCE LTD	12.027	120270.00	L2
					M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	14.31	143100.00	L3
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Glanpan 40mg vial	14.45	144500.00	L4
					s and after evaluatio		etermined th	ne prices quoted	l by
79		1		1	ided to accept the sa	me. JACKSON			
19	Inj. Pheniramine Meleate (CPM)	22.75mg/ml	2ml Amps	2000	M/s. Rajalaxmi Agencies	LABORATORI ES	2.22	4440.00	L1
The co	ommittee decided ne	ot to accept Sing	gle Price Bi	d.					
80	Inj. Phenytoin Sodium USP	50mg/ml	2ml Amps	1000	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	5.86	5860.00	L1
	ommittee decided n					T			
81	Inj. Pipercillin with	4gm/0.5gm	vials	10000	M/s. Rajalaxmi Agencies	Jackson Laboratories	71.53	715300.00	L1
	Tozabactam U.S.P.				M/s. Sri Maruthi Pharma	SCOTT EDIL/SKYMA P	73.26	732600.00	L2
					M/s. Nisha Pharmaceuticals	DHRUV LIFE SCIENCE LTD	100.225	1002250.00	L3
					M/s. Micro Labs Ltd	MICROTAZ INJECTION	131.88	1318800.00	L4
					s and after evaluation		etermined th	ne prices quoted	l by
					ded to accept the san			1	
82	Inj. Propofol B.P.	10mg/ml	10ml vials	1000	M/s. Liva Healthcare	M/s. Vital Healthcare Pvt. Ltd / M/s. Makcur Laboratories Ltd / M/s. Troikaa	42.00	42000.00	L1
						Pharmaceutical s Ltd			

					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Gland Pharma - Popoglan 10ml vial	45.37	45370.00	L2
The C	committee evaluated	the price bids of	of the above	tenderer	s and after evaluatio	on, the committee d	etermined th	ne prices quoted	l by
	L iva Healthcare as								•
83	Inj. Potassium Chloride	150mg/ml	20mcEq ./ 10ml Amps	2500	M/s. Sanjay Pharma Distributors	Harson Lab	6.50	16250.00	L1
The co	ommittee decided n	ot to accept Sing		<u>d</u>	Distributors				
84	Inj. Ranitidine HCL I.P.	25mg/ml	2ml amps	15000	M/s. Sri Maruthi Pharma	SCOTT EDIL	1.82	27300.00	L1
			umps		M/s. Sanjay Pharma Distributors	Harson lab	1.90	28500.00	L2
					M/s. Nisha Pharmaceuticals	LUPIN	2.0256	30384.00	L3
					s and after evaluatio		etermined th	ne prices quoted	l by
					ided to accept the sai		DECERTE		
85	Inj. Rituximab	500mg/Vial	Vial	10		NO TENDERS	KECEIVEL) 	
86	Inj. Ropivacaine	0.75%	20 ml Amps	50	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	RA	TES NOT Q)UOTED	
87	Ringer's Lactate I.V. I.P.	500ml	Polycar bon	10000	M/s. Nisha Pharmaceuticals	NIRLIFE	20.9734	209734.00	L1
			bottles		M/s. Baxter (India) Pvt. Ltd	RL 500	22.70	227000.00	L2
					M/s. Bangalore Surgicals	Ecoflac RL 500ml	68.07	680700.00	L3
					s and after evaluatio		etermined th	ne prices quoted	l by
					ecided to accept the	same.		ı	
88	Inj. Sodium Bicarbonate I.P.	7.50%	10ml amps	1000	M/s. Sanjay Pharma Distributors	Harson lab	6.19	6190.00	L1
The co	ommittee decided n	of to accent Since	gle Price Bi	d.					
89	Inj. Sodium Nitro Prusside	50mg/5ml Vial	Vial	100	M/s. Liva Healthcare	RA	TES NOT Q	QUOTED	
	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride +	50mg/5ml Vial 0.45% N.S +5%	500ml/ Polycar	2000	Healthcare M/s. Baxter (India) Pvt. Ltd	RA'	TES NOT Q 24.52	QUOTED 49040.00	L1
90	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS)	50mg/5ml Vial 0.45% N.S +5% Dextrose	500ml/ Polycar bon bottle	2000	Healthcare M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals	Half DNS NIRLIFE	24.52 25.32	49040.00 50640.00	L2
90 The C	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated	50mg/5ml Vial 0.45% N.S +5% Dextrose	500ml/ Polycar bon bottle	2000 tenderers	M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio	Half DNS NIRLIFE on, the committee do	24.52 25.32	49040.00 50640.00	L2
90 The C	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated	50mg/5ml Vial 0.45% N.S +5% Dextrose	500ml/ Polycar bon bottle	2000 tenderers	M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio ecided to accept the	Half DNS NIRLIFE on, the committee do	24.52 25.32	49040.00 50640.00	L2
90 The C	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated	50mg/5ml Vial 0.45% N.S +5% Dextrose	500ml/ Polycar bon bottle	2000 tenderers	M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio	Half DNS NIRLIFE on, the committee desame.	24.52 25.32	49040.00 50640.00 ne prices quotec	L2
90 The C M/s. 1	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated Baxter (India) Pvt. Inj.	50mg/5ml Vial 0.45% N.S +5% Dextrose 1 the price bids of Ltd as lowest e	500ml/ Polycar bon bottle of the above valuated pr	2000 e tenderersice and de	M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt.	Half DNS NIRLIFE on, the committee do same. Sing	24.52 25.32 etermined th	49040.00 50640.00 ne prices quotec	L2
90 The C M/s. 1	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated Baxter (India) Pvt. Inj. Streptokinase Salbutamol Respirator Solution Sodium Chloride IV	50mg/5ml Vial 0.45% N.S +5% Dextrose 1 the price bids of Ltd as lowest e	500ml/ Polycar bon bottle of the above valuated pr 10ml Vial 15ml/vi als 500ml/ Polycar	2000 tenderersice and do	M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Bangalore Surgicals M/s. Baxter (India) Pvt. Ltd	Half DNS NIRLIFE on, the committee do same. Sing	24.52 25.32 etermined the	49040.00 50640.00 ne prices quotec	L2
90 The C M/s. 1 91	Inj. Sodium Nitro Prusside 1/2 Sodium Chloride + Dextrose (1/2 DNS) Committee evaluated Baxter (India) Pvt. Inj. Streptokinase Salbutamol Respirator Solution Sodium	50mg/5ml Vial 0.45% N.S +5% Dextrose 1 the price bids of Ltd as lowest e 15 Lac IU 5mg/ml 0.45%, (1/2)	500ml/ Polycar bon bottle of the above evaluated pr 10ml Vial 15ml/vi als 500ml/	2000 tenderersice and de 2	Healthcare M/s. Baxter (India) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluatio ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Bangalore Surgicals M/s. Baxter	Half DNS NIRLIFE on, the committee desame. Sing	24.52 25.32 etermined the	49040.00 50640.00 ne prices quotece Received	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by **M/s. Baxter (India) Pvt. Ltd** as lowest evaluated price and decided to accept the same.

94	0 11								
	Sodium Chloride I.V	0.90%	100ml bottles	7000	M/s. Nisha Pharmaceuticals	NIRLIFE	8.59825	60187.75	L1
	Chioride 1. V		bottles		M/s. Baxter (India) Pvt. Ltd	NS 100	9.47	66290.00	L2
					M/s. Bangalore Surgicals	Ecoflac NS 100ml	55.19	386330.00	L3
					s and after evaluation		etermined th	e prices quoted	l by
95	Sodium	3%	100ml	100	ecided to accept the M/s. Nisha	HEALTH		ı	
93	Chloride IV	3%	/Polycar	100	Pharmaceuticals	LINE	27.43	2743.00	L1
			bon bottle		M/s. Sri Maruthi Pharma	RUSOMA LABORATORI ES PVT LTD	28.51	2851.00	L2
					s and after evaluation ecided to accept the		etermined th	e prices quoted	l by
96	Sterile Water	10ml	Plastic	30000	M/s. Nisha		1 52075	45002.50	T 1
	for Injection I.P.		amps		Pharmaceuticals	NIRLIFE	1.52975	45892.50	L1
The co	ommittee decided n	ot to accept Sin	gle Price Bi	d.			II.		1
97	Sterile water for Irrigation	3000ml		1500	M/s. Nisha Pharmaceuticals	HEALTH LINE	89.5695	134354.25	L1
					M/s. Sri Maruthi Pharma	RUSOMA LABORATORI ES PVT LTD	128.00	192000.00	L2
					s and after evaluation	on, the committee de	etermined th	e prices quoted	l by
			valuated pr		ecided to accept the		T		,
98	Sterile water for Irrigation U.S.P.	1000ml		1000	M/s. Sri Maruthi Pharma	RUSOMA LABORATORI ES PVT LTD	52.00	52000.00	L1
The co	ommittee decided n	ot to accept Sin	gle Price Bi	d.		251 (1212		I	
99	Inj.	50mg/ml	10ml	20	M/s. Nisha	CHANDRA	25.742	514.84	L1
	Succinylcholine		vial		Pharmaceuticals	BAGAT	2017.12	311.01	Li
	Succinylcholine		vial		Pharmaceuticals M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	32.46	649.2	L2
	committee evaluated		of the above		M/s. Rajalaxmi Agencies s and after evaluation	JACKSON LABORATORI ES on, the committee de	32.46	649.2	L2
M/s. N	Committee evaluated	icals as lowest e	of the above		M/s. Rajalaxmi Agencies s and after evaluation	JACKSON LABORATORI ES on, the committee de	32.46	649.2	L2
	committee evaluated		of the above		M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt.	JACKSON LABORATORI ES on, the committee de	32.46 etermined the	649.2	L2 l by HB sation
M/s. N	Committee evaluated	icals as lowest e	of the above	ice and d	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial	32.46 etermined the	649.2 ne prices quotec quoted for Vinces (Authoris	L2 l by HB sation
M/s. N 100	Committee evaluated Nisha Pharmaceuti Inj. Teicoplanin Inj. Tigecyline	icals as lowest e 200mg/Vial 50mg/Vial	of the above evaluated pr Vial Vial	100	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Nisha Pharmaceuticals	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial CHANDRA BHAGAT	32.46 Rates Lifescier Letter is 780.70	649.2 e prices quoted quoted for Vinces (Authoris not in our for 78070.00	L2 thy HB sation rmat) L1
M/s. N 100 101	Committee evaluated Nisha Pharmaceuti Inj. Teicoplanin Inj. Tigecyline Committee evaluated	icals as lowest e 200mg/Vial 50mg/Vial	of the above evaluated pr Vial Vial of the above	100	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Nisha	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial CHANDRA BHAGAT on, the committee desame.	32.46 Rates Lifescier Letter is 780.70 807.0075 etermined th	649.2 e prices quoted quoted for Vinces (Authoris not in our for 78070.00	L2 1 by HB sation rmat) L1
M/s. N 100 101	Committee evaluated Nisha Pharmaceuti Inj. Teicoplanin Inj. Tigecyline Committee evaluated	icals as lowest e 200mg/Vial 50mg/Vial	of the above evaluated pr Vial Vial of the above	100	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluation	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial CHANDRA BHAGAT on, the committee deed to accept the sam	32.46 Rates Lifescier Letter is 780.70 807.0075 etermined th	649.2 The prices quoted for Vinces (Authorism our for 78070.00 80700.75 The prices quoted quoted for Vinces (Authorism our for for for for for for for for for fo	L2 1 by HB sation rmat) L1
M/s. N 100 101 The C M/s. I	Committee evaluated Nisha Pharmaceuti Inj. Teicoplanin Inj. Tigecyline Committee evaluated R.S. Enterprises (B	200mg/Vial 50mg/Vial the price bids cangalore) Pvt. 10mg/2ml	of the above valuated pr Vial Vial Vial of the above Ltd as lower	100 100 100 tenderer	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluation ated price and decided M/s. Micro Labs Ltd M/s. Sri Maruthi Pharma	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial CHANDRA BHAGAT on, the committee deed to accept the sam	32.46 Rates Lifescier Letter is 780.70 807.0075 etermined the	649.2 The prices quoted for Vinces (Authorism our for 78070.00 80700.75 The prices quoted quoted for Vinces (Authorism our for for for for for for for for for fo	L2 1 by HB sation rmat) L1
100 101 The C M/s. I 102	Inj. Tigecyline Committee evaluated Inj. Teicoplanin Inj. Tigecyline Committee evaluated R.S. Enterprises (B Inj. Torsemide Inj. Tramadol	50mg/Vial the price bids cangalore) Pvt. 10mg/2ml Amps	of the above evaluated pr Vial Vial Vial Of the above Ltd as low Amps. 2ml	100 100 100 100 1000	M/s. Rajalaxmi Agencies s and after evaluation ecided to accept the M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Nisha Pharmaceuticals s and after evaluation ated price and decided M/s. Micro Labs Ltd M/s. Sri Maruthi	JACKSON LABORATORI ES on, the committee desame. VHB Life Sciences - Tiecaaz 200mg Gland Pharma - Tigebest 50mg 5ml vial CHANDRA BHAGAT on, the committee deed to accept the sam Sing SCOTT EDIL/SKYMA	32.46 Rates Lifescier Letter is 780.70 807.0075 etermined thee.	649.2 e prices quoted quoted for Vinces (Authoris s not in our for 78070.00 80700.75 e prices quoted Received	L2 HB sation rmat) L1 L2

104	Inj. Tramadol I.P.	50mg/ml	1ml amps	15000	M/s. Sri Maruthi Pharma	SCOTT-EDIL	2.19	32850.00	L1
					M/s. Sanjay Pharma Distributors	Harson lab	3.24	48600.00	L2
					M/s. Micro Labs Ltd	ULTRAM INJECTION 1 ML	6.86	102900.00	L3
					s and after evaluation	on, the committee de	etermined th	ne prices quoted	d by
105	TetraStarch 6%	130/20,000	Plastic	200	ided to accept the sa M/s. Bangalore		do Tondon	Danstrad	
103	Tetrastarch 6%	M.W.	Pouch	200	Surgicals	Sing	gle Tender	Received	
106	Inj. Vancomycin	500mg	Vial	500	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	71.54	35770.00	L1
					M/s. Sri Maruthi Pharma	MEDICON LAB	88.65	44325.00	L2
					M/s. Nisha Pharmaceuticals	CHANDRA BHAGAT	107.61	53805.00	L3
					s and after evaluation ded to accept the sar		etermined th	ne prices quoted	l by
107	Inj. Vancomycin	1gm	Vial	200	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	130.00	26000.00	L1
					M/s. Nisha Pharmaceuticals	CHADRA BHAGAT	177.24	35448.00	L2
					s and after evaluation ded to accept the san		etermined th	ne prices quoted	l by
108	Inj. Vitamin K(Menadione sodium) I.P.	10mg/ml	1ml amps	200	M/s. Rajalaxmi Agencies	JACKSON LABORATORI ES	5.86	1172.00	L1
	ommittee decided n				3.67.37"	I		•	
109	Inj. Voriconazole	200mg/Vial	Vial	100	M/s. Vijay Agencies M/s. Om Pharma	TECHNICA	ALLY NON TENDE	N-RESPONSIV CR	VΕ
110	Tab. Benazepril	5mg	One Tablet/	500		NO TENDERS	RECEIVE	D	
			Caps			T			
111	Tab. Carvedilol	3.125mg	One Tablet/ Caps	100	M/s. Micro Labs Ltd	CARVIPRESS -3.125 TABLETS	1.35	135.00	L1
The co	ommittee decided no	ot to accept Sing	gle Price Bi One	d.					
112	Tab. Clonidine	100mcg.	Tablet/ Caps	1000		NO TENDERS	RECEIVE	D	Γ
113	Tab. Clarithromycin	500mg	One Tablet/ Caps	100	M/s. Micro Labs Ltd	CLARIWIN- 500 TABLETS	23.21	2321.00	L1
The co	ommittee decided n	ot to accept Sing	1	d.					
114	Tab. Clarithromycin	200mg	One Tablet/ Caps	100		NO TENDERS	RECEIVE	D	
115	Tab. Cotrimaxazole DS	160mg/800 mg	One Tablet/ Caps	500	M/s. Vijay Agencies	TECHNICA	ALLY NON TENDE	N-RESPONSIVER	/E
		l .	l					l .	<u> </u>

Tab. Diazepam	5mg	One Tablet /Caps	2000		NO TENDERS	RECEIVE	D	
Tab. Diclofenac	100mg	Supposi	100	M/s. Vimaldeep M/s. Om Pharma	TECHNICALLY	Y NON-RES	 SPONSIVE TE 	ENDER
Tab. Diclofenac	12.5mg	Supposi tory	100	M/s. Om Pharma	TECHNICALLY	Y NON-RES	SPONSIVE TE	ENDER
Tab. Diclofenac	25mg	Supposi tory	100	M/s. Om Pharma	TECHNICALLY	Y NON-RES	L SPONSIVE TE	ENDER
Tab. Diclofenac Sodium	50mg	One Tablet /Caps	1000	M/s. Nisha Pharmaceuticals M/s. Micro Labs Ltd	LUPIN DIVON 50 TABLETS	0.3798	379.80 1161.00	L1 L2
						etermined th	e prices quote	d by
Tab. Dihydralazine Sulphate	25mg	One Tablet/ Caps	1000	ecided to accept the		RECEIVE	D	
Tab. Folate (5)	5mg	One Tablet/ Caps	3000		NO TENDERS	RECEIVE	D	
Tab. Isosorbide Trinitrate	10 mg	One Tablet/ Caps	100	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	TECHNICA			VE
Tab. Levofloxacin	500mg	One Tablet /Caps	2000	M/s. Micro Labs Ltd	LEVOBACT 500 TABLETS	3.038	6076.00	L1
		gle Price Bi						
Tab. Linezolid	600mg	Tablet/	200	Pharmaceuticals	SYNNON	27.43	5486.00	L1
				Ltd	600 TABLETS			L2
						etermined th	e prices quote	d by
Tab. Metolazone	2.5mg	One Tablet /Caps	1000	M/s. Vimaldeep		gle Tender I	Received	
Tab. Metolazone	5mg	One Tablet /Caps	1000	M/s. Vimaldeep	Sinş	gle Tender I	Received	
Tab. Metoprolol (Extended release)	25mg	One Tablet/ Caps	1000	M/s. Micro Labs Ltd	Sinş	gle Tender I	Received	
Tab. Metoprolol (Extended release)	50mg	One Tablet/ Caps	2000	M/s. Micro Labs Ltd	METAPRO-XL 50MG TABLETS	2.026	4052.00	L1
mmittee decided no	t to accept Sin		d.	<u> </u>				
Tab. Minoxidil	5mg	Tablet/ Caps	100		NO TENDERS	RECEIVE	D	
	Tab. Diclofenac Tab. Diclofenac Tab. Diclofenac Tab. Diclofenac Tab. Diclofenac Sodium Tab. Diclofenac Sodium Tab. Diclofenac Tab. Tab. Diclofenac Tab. Folate (5) Tab. Isosorbide Trinitrate Tab. Levofloxacin Tab. Linezolid Tab. Metolazone Tab. Metolazone Tab. Metoprolol (Extended release) Tab. Metoprolol (Extended release) Tab. Metoprolol (Extended release) Tab. Metoprolol (Extended release)	Tab. Diclofenac 12.5mg Tab. Diclofenac 25mg Tab. Diclofenac 50mg Tab. Diclofenac Sodium Tab. Diclofenac Sodium Tab. Diclofenac Sodium Tab. Diclofenac Sodium Tab. Dihydralazine Sulphate Tab. Folate (5) 5mg Tab. Isosorbide Trinitrate 10 mg Tab. Levofloxacin 500mg Tab. Linezolid 600mg Tab. Linezolid 600mg Tab. Metolazone 2.5mg Tab. Metoprolol (Extended release) 50mg Tab. Metoprolol (Extended release) 50mg Tab. Metoprolol (Extended release) 50mg Tab. Metoprolol (Somg Catended release) 50mg Tab. Metoprolol (Somg Catended release) 50mg	Tab. Diclofenac 100mg Supposi tory Tab. Diclofenac 12.5mg Supposi tory Tab. Diclofenac 25mg Supposi tory Tab. Diclofenac 50mg One Tablet //Caps Tab. Diclofenac 50mg One Tablet //Caps Tab. Diclofenac 25mg Tablet/ Caps Tab. Diclofenac 35mg One Tablet/ Caps Tab. Dinydralazine 25mg Tablet/ Caps Tab. Folate (5) 5mg Tablet/ Caps Tab. Isosorbide Trinitrate 10 mg Tablet //Caps Tab. Linezolid 600mg One Tablet //Caps Tab. Linezolid 600mg One Tablet //Caps Tab. Sommittee evaluated the price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmaceuticals as lowest evaluated price bids of the above disha Pharmac	Tab. Diclofenac 100mg Supposi tory 100 Tab. Diclofenac 12.5mg Supposi tory 100 Tab. Diclofenac 25mg Supposi tory 100 Tab. Diclofenac 25mg Supposi tory 100 Tab. Diclofenac 50mg One Tablet /Caps 1000 Tab. Diclofenac 50mg Tablet /Caps 1000 Tab. Folate (5) 5mg Tablet /Caps 1000 Tab. Folate (5) 5mg One Tablet /Caps 1000 Tab. Linezolid 500mg One Tablet /Caps 1000 Tab. Linezolid 600mg One Tablet /Caps 1000 Tab. Linezolid 500mg One Tablet /Caps 1000 Tab. Metolazone 2.5mg Tablet /Caps 1000 Tab. Metolazone 5mg Tablet /Caps 1000 Tab. Metoprolol (Extended release) 50mg One Tablet /Caps 1000 Tab. Metoprolol (Extended release) 50mg One Tablet /Caps 1000 Tab. Minoxidil 5mg One Tablet /Caps 1000 Tablet /Caps One Tablet /Caps 1000 Tab. Minoxidil 5mg One Tablet /Caps 1000 Ta	Tab. Diclofenac 100mg Supposi tory 100 M/s. Vimaldeep M/s. Om Pharma 100mg 100mg	Tab. Diclofenac 100mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac 25mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac 25mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac 25mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac 25mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac 25mg Supposi tory 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac Sodium 100 M/s. Om Pharma TECHNICALLY Tab. Diclofenac Sodium 1000 M/s. Nisha Pharmaceuticals as lowest evaluated price and decided to accept the same. Tab. Dihydralazine Supposi Tablet/ Caps 1000 Tablet Supphate 1000 M/s. Nisha Supphate 1000 Tablet Supphate 1000 M/s. Nisha Supphate 1000 Tablet Supphate 1000 M/s. Vimaldeep Sing Metolazone 1000 Supphate 1000 M/s. Vimaldeep Sing Sing Supphate 1000 M/s. Vimaldeep Sing Sing Supphate 1000 M/s. Nisha Supphate Sing Supphate	Tab. Diazepam 5mg Tablet /Caps Tab. Diclofenac 100mg Supposi 100 M/s. Om Pharma Tab. Diclofenac 12.5mg Supposi 100 M/s. Om Pharma Tab. Diclofenac 25mg Supposi 100 M/s. Om Pharma Tab. Diclofenac 50mg One Tablet /Caps Tab. Diclofenac 25mg Tablet /Caps Tab. Diclofenac 50mg One Tablet /Caps Tab. Diclofenac 50mg One Tablet /Caps Tab. Diclofenac 25mg Tablet /Caps Tab. Diclofenac 50mg One Tablet /Caps Tablet Caps Tablet 70mg One Tablet /Caps Tablet 70mg One Tablet 70m	Tab. Dictofenac

131	Tab. Nifedipine Retard	20mg	One Tablet/ Caps	10000	M/s. Vimaldeep	TECHNIC	ALLY NON TENDE	I-RESPONSIV R	VE
132	Cap. Nifedipine	5mg	One Tablet/ Caps	100		NO TENDERS	RECEIVE	D	
133	Cap. Nifedipine	10mg	One Tablet/ Caps	100		NO TENDERS	RECEIVE	D	
134	NTG Patch	25mg	single pack	200		NO TENDERS	RECEIVE	D	
135	Tab. Ranitidine	150mg	One Tablet/	25000	M/s. Micro Labs Ltd	RENITAB- 150mg TABS	0.3205	8012.50	L1
			Caps		M/s. Nisha Pharmaceuticals	LUPIN	0.422	10550.00	L2
					s and after evaluatio	n, the committee d	etermined th	e prices quoted	d by
M/s. N	Micro Labs Ltd as	lowest evaluated	d price and	decided t	o accept the same.			_	
136	Tab. Valganocyclove r	450 mg	One Tablet/ Caps	200		NO TENDERS	RECEIVE	D	

Sl. No.	Name of the Item	Strength/ Specificat ion	Unit	Qty	Name of the Tenderer	Sampl e Submi ssion (Yes/N o)	Sample Approve d / Not Approve d	Make	Unit Rate (Incl. of Vat)	Total Amoun t in Rs.	Status
DISI	POSABLES FO	R UROLOG	Y & O.T.								
1	Asepto Syringe Plastic Presterilised	100ml	Single Pack	200	M/s. Sri Maruthi Pharma		S	ingle Tend	er received.		
2	A V Fistula Pack	Specificati on attached (Annexure -1)		25	M/s. Bapuji Surgicals M/s. Deepa Jyothi Enterprise s	TECHNICALLY NON-RESPONSIVE TENDER					CR
3	Abdominal Drain Kit No.28	Drain Tube with bag assorted sizes	Single Pack	50	M/s. Sri Maruthi Pharma	Yes	Approve d by H.O.D. Urology	ROYAL SURGI CARE	58.8	2940.00	L1
The o	committee decid	led not to acce	ept Single Pri	ce Bid.				•			
4	Absorbable Gelatin Sponge U.S.P Regular	80 X 50 X 10mm	Box of Two Piece	100	M/s. Sri Maruthi Pharma		S	ingle Tend	er received.		
5	Amplatz Sheath	No.18	Pack of 1	25	M/s.Devo n Innovatio ns Pvt. Ltd		S	ingle Tend	er received.		

6											
U	Amplatz	No.24	Pack of 1	50	M/s.		Not				
	Sheath				Sanjay		Approve				
					Pharma	No	d by				
					Distributo		H.O.D.				
					rs		Urology				
					M/s.Devo		Not				
					n		Approve				
					Innovatio	Yes	d by				
					ns Pvt.	108	H.O.D.				
					Ltd		Urology				
		NY 20	D 1 61	10	3.57		**				
7	Amplatz	No.30	Pack of 1	10	M/s.		Not				
	Sheath				Sanjay		Approve				
					Pharma	Yes	d by				
					Distributo		H.O.D.				
					rs		Urology				
					M/s.Devo		Not				
					n		Approve				
					Innovatio	Yes	d by				
					ns Pvt.	_ 55	H.O.D.				
					Ltd		Urology				
					Liu		Crology			+	
	Antimianali	56ama V	Doct of 1	50			Annarra			+	
8	Antimicrobi	56cms X	Pack of 1	50	M/s. Sri		Approve				
	al Incise	45cms,			Maruthi	Yes	d by				
	Drape	22" X 17"			Pharma	100	H.O.D.	3M			
					Tilaiiia		Urology	INDIA/	490.00	24500.0	L1
					M/a Cmi		Approve		490.00	0	LI
					M/s. Sri	* 7	d by	VYGON			
					Maruthi	Yes	H.O.D.				
					Pharma		Urology				
The c	committee decid	ed not to acce	ent Single Pri	ice Bid			crotogy			1	
9	Cautery	for	Pack of 1	1000	M/s.		Approve				
1	Pencil	Monopola	Tack of 1	1000	Nisha		d by	AYSHM		124490.	
	Felicii					Yes	H.O.D.		124.49	00	L1
		r cautery,			Pharmace		H.O.D.	AN		1 ()()	
i i		**								00	
		Universal			uticals		Urology			00	
		у			uticals		Urology Approve				
					uticals M/s.	Ves	Urology Approve d by	Covidie	379.80	379800.	1.2
		у			uticals M/s. Bangalore	Yes	Urology Approve d by H.O.D.	Covidie n E 2516	379.80		L2
		y adaptable			uticals M/s. Bangalore Surgicals		Urology Approve d by H.O.D. Urology	n E 2516		379800.	L2
The C	Committee evalu	y adaptable	e bids of the	above tend	uticals M/s. Bangalore Surgicals		Urology Approve d by H.O.D. Urology	n E 2516		379800.	L2
	Committee evalus quoted by M/s	y adaptable ated the price			uticals M/s. Bangalore Surgicals	er evaluati	Urology Approve d by H.O.D. Urology on, the com	n E 2516 nittee deterr		379800.	L2
		y adaptable lated the price. Nisha Phar	maceuticals		uticals M/s. Bangalore Surgicals derers and afterevaluated priority	er evaluati	Urology Approve d by H.O.D. Urology on, the complicated to acce	n E 2516 mittee deterr pt the same.		379800.	L2
prices	s quoted by M/s Chest Tube	y adaptable ated the price		as lowest	uticals M/s. Bangalore Surgicals derers and afterevaluated priority M/s. Sri	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the complided to acce Approve	n E 2516 mittee deterript the same. ROYAL	nined the	379800. 00	
prices	s quoted by M/s	y adaptable lated the price. Nisha Phar	maceuticals	as lowest	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi	er evaluati	Urology Approve d by H.O.D. Urology on, the complided to acce Approve d by	n E 2516 mittee deterrept the same. ROYAL SURGI		379800.	L2
prices	s quoted by M/s Chest Tube	y adaptable lated the price. Nisha Phar	maceuticals	as lowest	uticals M/s. Bangalore Surgicals derers and afterevaluated priority M/s. Sri	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the commidded to acce Approve d by H.O.D.	n E 2516 mittee deterript the same. ROYAL	nined the	379800. 00	
prices	s quoted by M/s Chest Tube for ICD	y adaptable nated the price Nisha Phar 22Fr	maceuticals Pack of 1	as lowest 5	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the complided to acce Approve d by	n E 2516 mittee deterrept the same. ROYAL SURGI	nined the	379800. 00	
10 The c	s quoted by M/s Chest Tube for ICD committee decid	y adaptable Latted the price Nisha Phar 22Fr	Pack of 1 Pack of 1 ept Single Pri	as lowest 5	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the commedded to acce Approve d by H.O.D. Urology	n E 2516 mittee deterrept the same. ROYAL SURGI	nined the	379800. 00	
prices	s quoted by M/s Chest Tube for ICD committee decid Corrugated	y adaptable Lated the price Nisha Phar 22Fr ed not to acces 250	Pack of 1 Path Single Principle Single	as lowest 5	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the commedded to acce Approve d by H.O.D. Urology Approve	n E 2516 mittee deterrept the same. ROYAL SURGI	nined the	379800. 00	
10 The c	s quoted by M/s Chest Tube for ICD committee decid Corrugated Abdominal	y adaptable Lated the price Nisha Phar 22Fr ed not to acces 250 X25mm	Pack of 1 Pack of 1 ept Single Pri	as lowest 5	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the commedded to acce Approve d by H.O.D. Urology Approve d by	n E 2516 mittee deterript the same. ROYAL SURGI CARE	42.00	379800. 00 210.00	L1
10 The c	s quoted by M/s Chest Tube for ICD committee decid Corrugated	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC	Pack of 1 Path Single Principle Single	as lowest 5	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi	er evaluatice and dec	Urology Approve d by H.O.D. Urology on, the commoded to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	nined the	379800. 00	
The c	committee decident Corrugated Abdominal Drain Sheet	y adaptable lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the commedded to acce Approve d by H.O.D. Urology Approve d by	n E 2516 mittee deterript the same. ROYAL SURGI CARE	42.00	379800. 00 210.00	L1
The c	committee decide Abdominal Drain Sheet	y adaptable lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to accee acceeding to acceed to acce	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100	uticals M/s. Bangalore Surgicals derers and afterevaluated priority M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the commedded to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Corrugated Abdominal Drain Sheet	y adaptable lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the commoded to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the compided to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops	y adaptable lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to accee acceeding to acceed to acce	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	Yes Yes	Urology Approve d by H.O.D. Urology on, the complicated to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma	er evaluation and dec	Urology Approve d by H.O.D. Urology on, the commidded to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated prio M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sanjay Pharma Distributo	Yes Yes	Urology Approve d by H.O.D. Urology on, the commidded to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated prior M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sanjay Pharma Distributo rs	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated price M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma in Maruthi Pharma M/s. Sanjay Pharma Distributo rs M/s.Devo	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Approve Not Not Approve Not	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated price M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sanjay Pharma Distributo rs M/s.Devo n	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Approve	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated price M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma in M/s. Sanjay Pharma Distributo rs M/s.Devo n Innovatio	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated price M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sanjay Pharma Distributo rs M/s.Devo n	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1
The c	committee decident Cutting Cutting Loops (Single	y adaptable Lated the price Nisha Phar 22Fr ed not to acce 250 X25mm PVC prestsrile ed not to acce 24Fr(TUR	Pack of 1 Pack of 1 Path Single Price Single Pack	as lowest 5 ice Bid. 100 ice Bid.	uticals M/s. Bangalore Surgicals derers and afte evaluated price M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma M/s. Sri Maruthi Pharma in M/s. Sanjay Pharma Distributo rs M/s.Devo n Innovatio	Yes Yes	Urology Approve d by H.O.D. Urology on, the committed to acce Approve d by H.O.D. Urology Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology	n E 2516 mittee deterript the same. ROYAL SURGI CARE ROYAL SURGI	42.00	379800. 00 210.00	L1

13	D.J.Stents Both End	Length-26 cm 5.5Fr		500	M/s. Sanjay		Approve d by				
	Open				Pharma	Yes	H.O.D.	Biorad	145.00	72500.00	L1
					Distributo		Urology				
					rs M/s.Devo						
					n n		Approve				
					Innovatio	No	d by	DEVON	200.45	100225.0	L2
					ns Pvt.		H.O.D.			0	
					Ltd		Urology				
	Committee evalua										
	s quoted by M/s.		ma Distribu			d price an	d decided to	accept the sa	ame.		
14	D.J.Stents	Length-26		500	M/s.		Approve				
	Both End	cm 5.0Fr			Sanjay Pharma	Yes	d by	Biorad	145.00	72500.00	L1
	Open				Distributo	ies	H.O.D.	Diorau	143.00	72300.00	LI
					rs		Urology				
					M/s.Devo						
					n		Approve d by			100225.0	
					Innovatio	No	H.O.D.	DEVON	200.45	0	L2
					ns Pvt.		Urology				
TI (7 1	. 1.1	1.1 64	1 , 1	Ltd	1		24 1 4	1.1		
	Committee evaluates quoted by M/s.										
15	D.J.Stents	3.5Fr x	ilia Distribu	20	M/s.	a price an		accept the se	arric.		
10	Both End	16cm		20	Sanjay		Approve				
	Open				Pharma	No	d by H.O.D.	Biorad	145.00	2900.00	L1
	_				Distributo		Urology				
					rs		Crology				
					M/s.Devo		Approve				
					n Innovatio	No	d by	DEVON	200.45	4009.00	L2
					ns Pvt.	NO	H.O.D.	DEVON	200.43	4009.00	LZ
					Ltd		Urology				
The C	Committee evalua	ated the price	bids of the a	bove tende	erers and after	evaluatio	on, the comm	nittee determ	ined the		
_	s quoted by M/s.		ma Distribu			d price an	d decided to	accept the sa	ame.		
16	D.J.Stents	4.0Fr,26c		50	M/s.		Approve				
	Both End	m			Sanjay	NT.	d by	D: 1	145.00	7250.00	Т 1
	Open				Pharma Distributo	No	H.O.D.	Biorad	145.00	7250.00	L1
					rs		Urology				
					M/s.Devo						
					n		Approve				
					Innovatio	No	d by H.O.D.	DEVON	200.45	10022.50	L2
					ns Pvt.		Urology				
TEI C	7 1	. 1.1	1:1 6:1		Ltd			• •	. 1.1		
	Committee evaluates quoted by M/s.										
prices	D.J.Stents	Length-	ma Distribu	50	M/s.	i price an		accept the S	ailic.		
1/	Both End	26cm 4.5		30	Sanjay		Approve				
	Open	Fr			Pharma	No	d by	Biorad	145.00	7250.00	L1
					Distributo		H.O.D. Urology				
					rs		Orology				
					M/s.Devo		Approve				
					n Immovestice	NT -	d by	DEVON	200.45	10022.50	1.2
					Innovatio ns Pvt.	No	H.O.D.	DEVON	200.45	10022.50	L2
					Ltd		Urology				
The C	Committee evalua	ated the price	bids of the a	bove tende		evaluatio	on, the comm	nittee determ	ined the		
	s quoted by M/s.										

- 10			1	7.0		1	ı	1		1	1
18	D.J.Sten ts Both End Open	3.5Fr,18cm		50	M/s. Sanjay Pharma Distributo rs	No	Approve d by H.O.D. Urology	Biorad	145.00	7250.00	L1
					M/s.Devo n Innovatio ns Pvt. Ltd	No	Approve d by H.O.D. Urology	DEVON	200.45	10022.50	L2
The C	Committee 6	evaluated the price b	ids of the abo	ove tender		evaluation	, the commit	tee determin	ned the		
		M/s. Sanjay Pharn									
19	D.J.Sten ts Both End Open	4.0Fr,16cm		50	M/s. Sanjay Pharma Distributo	No	Approve d by H.O.D. Urology	Biorad	145.00	7250.00	L1
					M/s.Devo n Innovatio ns Pvt. Ltd	No	Approve d by H.O.D. Urology	DEVON	200.45	10022.50	L2
		evaluated the price b									
		M/s. Sanjay Pharn	na Distribut			price and	decided to a	ccept the sai	me.		
20	D.J.Sten ts Both End Open	4.0Fr,18cm		50	M/s. Sanjay Pharma Distributo rs	No	Approve d by H.O.D. Urology	Biorad	145.00	7250.00	L1
					M/s.Devo n Innovatio ns Pvt. Ltd	No	Approve d by H.O.D. Urology	DEVON	200.45	10022.50	L2
		evaluated the price b									
-		M/s. Sanjay Pharn				^				02100.00	T 1
The c	Disposa ble Basic Surgical Pack	Pack containing Cautery Bag 2 Nos 30X 30cm, operation Tape 1 No. 10x 55cm, Hand Towel 4 Nos. 23.5X38, Adhesive Towel Drape 2 Nos. 91.5cm x 100cms, Adhesive Drape Sheet (Medium) 183X183, Adhesive Drape Sheet (L) 150X 250, Instrument Table Cover 1 no 150X 200, Instrument Table Cover (L) 1 no 183X 240, ecided not to accept	Pack Single Price	50	M/s. Sri Maruthi Pharma	Yes	Approve d by H.O.D. Urology	3M INDIA LTD	1862.00	93100.00	L1
The c	committee d	eciaea not to accept	Single Price	BIO.							

22	Disposa ble HIV Pack	Specification attached (Annexure-2)	Kit	500	M/s. Sanjay Pharma Distributo rs	No	Approve d by H.O.D. Urology	R	ATES NOT	QUOTED	
23	Disposa ble PCNL Drapes	Size: 150 X 275 cms, Adhesive Area: 20 cms X 25cms	Kit	25	M/s. Sanjay Pharma Distributo	Yes	Approve d by H.O.D. Urology	Surgiwe ar	398.00	9950.00	L1
		lecided not to accer	ot Single Pric								
24	Disposa ble Plastic Aprons (Specs As per Pollutio n Control Board)	Above 40 Microns Sterile		7000	M/s. Sanjay Pharma Distributo rs	No	Approve d by H.O.D. Urology	Surgiwe ar	35.40	247800.0	L1
		lecided not to accep			T			1			
25	Facial Dilators Set	Teflon make (for PCN) Each pack consisting of dailator size 6,8,10,12, 14,16Fr - 1 each	Pack	25	M/s. Sanjay Pharma Distributo rs	Yes	Not Approved by H.O.D. Urology				
26	Foley's Catheter	8Fr	Pack of 1	150	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology				
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology				
27	Foley's Catheter	10 Fr	Pack of 1	200	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology Not				
					M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Urology				
28	Foley's Catheter	12 Fr	Pack of 1	300	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology				
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology				
29	Foley's Catheter	14 Fr	Pack of 1	800	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology				

35	Syringes	5cc.	Pack of 1	100	India Surgical Pvt. Ltd		Si	ngle Tend	er received	
2.5	Glass	_	D 1 61	100	M/s. South		G.			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			
34	Foley's Catheter	22 Fr Three Way	Pack of 1	500	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			
33	Foley's Catheter	20 Fr Three way	Pack of 1	600	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			
32	Foley's Catheter	20 Fr Two way	Pack of 1	300	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			
31	Foley's Catheter	18 Fr	Pack of 1	200	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			
30	Foley's Catheter	16 Fr	Pack of 1	5000	M/s. Nisha Pharmace uticals	Yes	Not Approved by H.O.D. Urology			
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology			

36	Guide wire Hydrop hylic coated Floppy Tip Straight	0.18	Pack of 1	50	M/s. Sanjay Pharma Distributo rs M/s. R.S. Enterprise s (Bangalor e) Pvt. Ltd M/s. Sri Maruthi Pharma	No No	Not Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Urology Not Urology Not Urology		
37	Guide Wire Hydrop hylic coated Floppy Tip Straight (Termin e)	150cm-0.025	Pack of 1	50	M/s. Sanjay Pharma Distributo rs M/s. R.S. Enterprise s (Bangalor e) Pvt. Ltd	No	Not Approve d by H.O.D. Urology Not Approve d by H.O.D. Urology Not Not		
					M/s. Sri Maruthi Pharma	No	Approve d by H.O.D. Urology		
38	Guide Wire Hydrop hylic coated	150cm-0.032	Pack of 1	500	M/s. Sanjay Pharma Distributo rs	No	Not Approve d by H.O.D. Urology		
	Floppy TipStrai ght				M/s. R.S. Enterprise s (Bangalor e) Pvt. Ltd	Yes	Not Approve d by H.O.D. Urology		
					M/s.Devo n Innovatio ns Pvt. Ltd	Yes	Not Approve d by H.O.D. Urology		
					M/s. Sri Maruthi Pharma	No	Not Approve d by H.O.D. Urology		

39	Guide Wire Hydrop hylic coated Floppy Tip Straight	150cm-0.035	Pack of 1	300	M/s. Sanjay Pharma Distributors M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s.Devon Innovations Pvt. Ltd M/s. Sri	Yes Yes	Not Approved by H.O.D. Urology Not Approved by H.O.D. Urology Not Approved by H.O.D. Urology Not Approved Approved Approved		
					Maruthi Pharma	Yes	by H.O.D. Urology		
40	Guide wire Hydrop hylic	150cm-0.018	Pack of 1	20	M/s. Sanjay Pharma Distributors	No	Not Approved by H.O.D. Urology		
	coated J Tipped -				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Not Approved by H.O.D. Urology		
					M/s. Sri Maruthi Pharma	No	Not Approved by H.O.D. Urology		
41	Guide wire Hydrop hylic	150cm-0.025	Pack of 1	20	M/s. Sanjay Pharma Distributors	No	Not Approved by H.O.D. Urology		
	coatedJ Tipped -				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Not Approved by H.O.D. Urology		
					M/s. Sri Maruthi Pharma	No	Not Approved by H.O.D. Urology		
42	Guide wire Hydrop hylic	150cm-0.032	Pack of 1	50	M/s. Sanjay Pharma Distributors	No	Not Approved by H.O.D. Urology		
	coated, J- Tipped -				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Not Approved by H.O.D. Urology		
					M/s. Sri Maruthi Pharma	No	Not Approved by H.O.D. Urology		

43	Guide wire Hydrop hylic coated, J -Tipped	150cm-0.035	Pack of 1	50	M/s. Sanjay Pharma Distributors M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Sri Maruthi Pharma	Yes Yes No	Not Approved by H.O.D. Urology Not Approved by H.O.D. Urology Not Approved by H.O.D. Urology Urology				
44	Guide wire PTFE coated - J Tip	150cm-0.032	Pack of 1	50	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Approved by H.O.D. Urology	Advance Life Sciences Pvt. Ltd. - Surgiwir e	254.78	12739.00	L1
					M/s. Sanjay Pharma Distributors	No	Approved by H.O.D. Urology	Biorad	270.00	13500.00	L2
TEI (7	1 . 11			M/s.Devon Innovations Pvt. Ltd	No	Approved by H.O.D. Urology	DEVON	393.4	19670.00	L3
	s quoted by	evaluated the price M/s. R.S. Enterpr									
45	Guide wire PTFE coated - J Tip	150cm-0.035	Pack of 1	25	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Approved by H.O.D. Urology	Advance Life Sciences Pvt. Ltd. - Surgiwir e	254.78	6369.50	L1
					M/s. Sanjay Pharma Distributors	No	Approved by H.O.D. Urology	Biorad	270.00	6750.00	L2
					M/s.Devon Innovations Pvt. Ltd	Yes	Approved by H.O.D. Urology	DEVON	393.40	9835.00	L3
	s quoted by	evaluated the price M/s. R.S. Enterpr			rers and after e		on, the comm				
46	Hem-O- Lock Clips	10mm	Box (Each Box 11 cartridge Each cartridge of 6 Clips)	50			NO TEN	DERS REC	EIVED		
47	Y Connect or - Metal	For Irrigation		25			NO TEN	DERS REC	EIVED		

48	Infant	5F	Pack of 1	2500	M/s. Sri		Approved	ROYAL		<u> </u>	
10	Feeding	31	Tuck of 1	2300	Maruthi	Yes	by H.O.D.	SURGI	4.68	11700.00	L1
	Tube				Pharma	103	Urology	CARE	1.00	11700.00	
The c		ecided not to accep	ot Single Pric	e Bid.		1	0101083				
49	Infant	6F	Pack of 1	2500	M/s. Sri		Approved	ROYAL			
	Feeding				Maruthi	Yes	by H.O.D.	SURGI	4.68	11700.00	L1
	Tube				Pharma		Urology	CARE			
The c		ecided not to accep	t Single Pric	e Bid.	1			1			
50	Infant	8F	Pack of 1	2500	M/s. Sri		Approved	DOMAI			
	Feeding				Maruthi	Yes	by H.O.D.	ROYAL			
	Tube				Pharma		Urology	SURGI CARE/	1.60	11700.00	T 1
					M/s. Sri		Approved	ROMSO	4.68	11700.00	L1
					Maruthi	Yes	by H.O.D.	NS			
					Pharma		Urology	143			
The c	committee d	ecided not to accep	ot Single Pric	e Bid.							
51	Initial	18G 6Fr	Pack of 1	100	M/s.Devon		Approved				
	Punctur				Innovations	No	by H.O.D.	DEVON	185.68	18568.00	L1
	e Needle				Pvt. Ltd		Urology				
	18F										
	20cm,				M/s. Sanjay		Approved				
	Double				Pharma	Yes	by H.O.D.	Biorad	245.00	24500.00	L2
	Part for				Distributors		Urology				
	PCNL										
		evaluated the price									
		M/s.Devon Innov				ice and	d decided to a	ccept the sar	me.		
52	Kidney	Specification	Kit	25	M/s. Bapuji						
	Transpla	attached			Surgicals						
	nt -	(Annexure-3)			M/s. Deepa	· ·	TECHNICA:	LLY NON-	RESPONSI	IVE TENDE	R
	Donor				Jyothi						
	Kit				Enterprises				1		1
	Kidney										
	Transpla	Specification			M/s. Bapuji						
53	nt -	attached	Kit	25	Surgicals	1	TECHNICA	LLY NON-	RESPONSI	IVE TENDE	R
	Receipie	(Annexure-4)									
	nt Kit						T	T	T	T	
	T	C: 150 X/ 050	TZ*.	70) // G :						
54	Laprosc	Size:150 X 250	Kit	70	M/s. Sanjay	X.7	Approved	Surgiwe	502.00	41.440.00	T 1
	opic	cm, Aperture			Pharma	Yes	by H.O.D.	ar	592.00	41440.00	L1
TEN	Drape	:30 X 35cms		D: 1	Distributors		Urology				
The c		ecided not to accep	ot Single Pric	e Bid.	T						
	Leur										
	Lock										
55	Connect	-	Per piece	25			NO TENI	DERS REC	EIVED		
	or for										
	Cystosc										
-	ope									I	
			D							<u> </u>	<u> </u>
			Box								
			(Each								
	Ligaclip		Box 18								
56	(Metalli	LT 400	cartridge	1			NO TENI	DERS REC	EIVED		
	c Clip)		Each					_			
	1/		cartridge								
			of 6								
			Clips)			1				I	
	ı		I	Ī	I	1				Ĩ	

57	Ligaclip (Metalli c Clip)	LT 300	Box (Each Box 18 cartridge Each cartridge of 6 Clips)	1	NO TENDERS RECEIVED							
58	Lignoca ine Jelly 2%	30gm	Single Piece	10000			NO TENI	DERS REC	EIVED			
59	Lumbar Punctur e Needle	18G	Single Piece	20	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Not Approved by H.O.D. Urology					
					M/s.Devon Innovations Pvt. Ltd	Yes	Not Approved by H.O.D. Urology					
					M/s. Sri Maruthi Pharma	Yes	Not Approved by H.O.D. Urology					
60	Malecot Catheter s	No. 28 Red Rubber	Per piece	50	M/s. Sanjay Pharma Distributors	Yes	Approved by H.O.D. Urology	R	ATES NOT	QUOTED		
61	Minor Dressin g Set	Specification attached (Annexure-5)		50			NO TENI	DERS REC	EIVED			
62	Nitinol Stone Basket With Tip	4Fr, 115cms	Pack of 1	5	M/s. Sanjay Pharma Distributors M/s.Devon Innovations	Yes	Approved by H.O.D. Urology Approved by H.O.D.	Biorad DEVON	2240.00 2553.10	11200.00 12765.50	L1	
		evaluated the price										
63	Nitinol	M/s. Sanjay Phar 3Fr, 115cms	Pack of 1	tors as lov	M/s.Devon	orice ar	Approved	accept the s	aine.			
	Stone Basket	, ,			Innovations Pvt. Ltd	No	by H.O.D. Urology	DEVON	2553.10	12765.50	L1	
	Without Tip				M/s. Sanjay Pharma Distributors	Yes	Approved by H.O.D. Urology	Biorad	3490	17450	L2	
		evaluated the price										
price 64	s quoted by PCN	M/s.Devon Innov 8F	Pack of 1	Ltd as lower	est evaluated pr M/s. Sanjay	ice and	decided to a Approved	ccept the sai	me.			
04	Cath	ог	FACK OI I	30	Pharma Distributors	No	by H.O.D. Urology	Biorad	196.00	9800.00	L1	
	(Pigtail)											
	(Pigtail)				M/s.Devon Innovations Pvt. Ltd	No	Approved by H.O.D. Urology	DEVON	208.89	10444.50	L2	

					T	1	T				
65	PCN	10F	Pack of 1	100	M/s. Sanjay		Approved				
	Cath				Pharma	Yes	by H.O.D.	Biorad	196.00	19600.00	L1
	(Pigtail)				Distributors		Urology				
					M/s.Devon		Approved	DEMON	200.00	20000 00	T 0
					Innovations	No	by H.O.D.	DEVON	208.89	20889.00	L2
TD1 4	Q	1 . 1.1	1:1 6:1 1		Pvt. Ltd		Urology	1 .	. 1.1		
		evaluated the price									
		M/s. Sanjay Phar				price a		accept the s	ame.		
66	PCN Cath	12F	Pack of 1	50	M/s. Sanjay Pharma	No	Approved	Biorad	196.00	9800.00	L1
	(Pigtail)				Distributors	NO	by H.O.D. Urology	Biorad	196.00	9800.00	LI
	(Figiaii)				M/s.Devon		Approved				
					Innovations	No	by H.O.D.	DEVON	208.89	10444.50	L2
					Pvt. Ltd	140	Urology	DEVOIV	200.07	10444.50	LL
The (Committee 6	evaluated the price	bids of the al	oove tende		valuati		ittee determ	ined the		
		M/s. Sanjay Phar									
67	Plain	120cm X	Pack of 1	200	M/s. Bapuji		na acciaca to	accept the s	unie.	ı	
07	Drape	150cm	Tuck of 1	200	Surgicals						
	Sheets	1000111			M/s. Deepa	١,	TECHNICAL	LLY NON-	RESPONSI	IVE TENDE	R
					Jyothi		12011111011	EET IVOIV	ILLOI OI (D.	IVE IEIVEE	
					Enterprises						
					Î						
60	Port	05	Dools of 1	100			NO TENI	DEDC DEC	EIVED	•	l.
68	Washers	05mm	Pack of 1	100			NO TENI	DERS REC	EIVED		
69	Port	10mm	Pack of 1	100			NO TENI	DERS REC	EIVED		
09	Washers	10111111	Pack of 1	100			NO LENI	DEKS KEC	EIVED		
70	Presteril	20cm x10cm	Pack of 1	500	M/s.		Not				
	ised				Anupama	Yes	Approved				
	gauze				Enterprises	100	by H.O.D.				
							Urology				
71	D.O.	20 20	D 1 61	5000							
71	R O	30cm x 30cm	Pack of 1	5000			Approved				
	Sponge	8ply			M/s.		by H.O.D.				
					Anupama	Yes	Urology (Make	R	ATES NOT	QUOTED	
					Enterprises		Bapuji				
							Surgicals) Not			1	
					M/s. Sri		Approved				
					Maruthi	Yes	by H.O.D.				
					Pharma		Urology				
							Orology				
72	Suprapu	14Fr Consisting	1 Set	50	1		Approved			 	
12	bic	of Puncture	1 361	50			by H.O.D.				
	Catheter	needle &			M/s. Sanjay		Urology				
	Foley's	Suprapubic			Pharma	No	(Make	Biorad	560.00	28000.00	L1
	Set	Fole's Catheter			Distributors		Bapuji				
	Set	with urine Bag					Surgicals)				
The o	committee d	ecided not to accep	ot Single Pric	e Bid.	1	1	2 21 510415)	I			
73	Suprapu	16Fr Consisting	1 Set	50	M/s. Sanjay		Approved			1	
	bic	of Puncture	- 551		Pharma	Yes	by H.O.D.	Biorad	560.00	28000.00	L1
	Catheter	needle &			Distributors	- •	Urology		223.00		
	Foley's	Suprapubic			M/s. Sri		Approved			1	
	Set	Fole's Catheter			Maruthi	Yes	by H.O.D.	ROMSO	563.10	28155.00	L2
		with urine Bag			Pharma		Urology	NS			
The C	Committee 6	evaluated the price	bids of the al	ove tende		valuati		ittee determ	ined the	1	
		M/s. Sanjay Phar									

74	Suprapu bic	Consisting of Malecot cath 1, Mounted on	Pack of 1	10	M/s.Devon Innovations Pvt. Ltd	No	Approved by H.O.D. Urology	DEVON	464.20	4642.00	L1
	Catheter Set 10Fr	needle with urine bag connector			M/s. Sanjay Pharma Distributors	No	Approved by H.O.D.	Biorad	980.00	9800.00	L2
		connector			M/s. Sri Maruthi Pharma	No	Approved by H.O.D. Urology	R	ATES NOT	QUOTED	
The C	Committee e	evaluated the price b	ids of the al	l bove tende		valuati		ittee determ	ined the		
		M/s.Devon Innovat									
75	Suprapu		Pack of 1	25	M/s.Devon		Approved				
	bic Catheter	Malecot cath 1, Mounted on			Innovations Pvt. Ltd	No	by H.O.D. Urology	DEVON	464.20	11605.00	L1
	Set 12Fr	needle with urine bag connector			M/s. Sanjay Pharma Distributors	No	Approved by H.O.D. Urology	Biorad	980.00	24500.00	L2
					M/s. Sri Maruthi	No	Approved by H.O.D.	R	ATES NOT	QUOTED	II.
Tri 1	• • • • • • • • • • • • • • • • • • • •	1 . 1.1	11 64 4		Pharma	1 .	Urology	**** 1 .	. 1.4	I	
		evaluated the price b									
prices	Suprapu	M/s.Devon Innovation Consisting of	Pack of 1	25	est evaluated pr M/s.Devon	ice and	Approved	ccept the sai	me.		
76	Suprapu bic	Malecot cath 1,	Pack of 1	23	Innovations	Yes	by H.O.D.	DEVON	464.2	11605	L1
	Catheter	Mounted on			Pvt. Ltd	108	Urology	DEVON	404.2	11005	LI
	Set 14Fr	needle with			M/s. Sanjay		Approved				
	500 1 111	urine bag			Pharma	Yes	by H.O.D.	Biorad	980	24500	L2
		connector			Distributors		Urology		, , , ,		
					M/s. Sri		Approved		l		I.
					Maruthi	No	by H.O.D.	R	ATES NOT	QUOTED	
					Pharma		Urology				
		evaluated the price b									
_		M/s.Devon Innovat				rice and	l decided to a	ccept the sai	me.		
77	Ted	Vericose Vein	Pair	50	M/s. Aims						
	Stockin	Stockings			M/s. Sri Maruthi	7	FECHNICA	LLY NON-	RESPONS	IVE TENDE	R
	gs				Pharma						
78	Toomey	100 ml	Each	10	M/s. Sanjay						
70	Glass	100 III	Syringe	10	Pharma						
	Syringes		~)8-		Distributors]	TECHNICAI	LLY NON-I	RESPONSI	VE TENDE	R
	, .				M/s.						
					Maxlife						
	Toomey				M/s. Sanjay		Not				
79	Glass	50 ml	Each	10	Pharma	No	Approved				
	Syringes		Syringe		Distributors		by H.O.D.				
	TUR						Urology				
80	Silicon Tubings	1	Per Meter	50			NO TENI	DERS REC	EIVED		
81	TURP	TURP Drape with		200	M/s. Sanjay	Yes	Approved	Surgiwe	395.00	79000.00	L1
	Drape	Release and			Pharma		by H.O.D.	ar			
		Absorbent (60			Distributors		Urology				
		GSM SMS 228 cm x 178 cm 5									
		cm width Release									
		229 cm Absorbent									
		layer 112 cm x 92									
		cm with Release									
		paper 38 cm x 38									
		cm)	<u> </u>								
The c	committee d	ecided not to accept	Single Pric	e Bid.						İ	

82	Ureteral Dialator Set (Teflon)	Serial Teflon Dialator, 6Fr to 16Fr	1 Pack	2	M/s. Sanjay Pharma Distributors	Yes	Not Approved by H.O.D. Urology			LLY NON- E TENDER	
83	Ureteric balloon dilator	5cm,15F, Burst Pressure 20 ATM,	1 Pack	10	M/s. Sanjay Pharma Distributors	Yes	Not Approved by H.O.D. Urology			LLY NON- E TENDER	
84	Ureteric balloon dilator	5cm,15F, Burst Pressure 20 ATM With Inflation device	1 Pack	5	M/s. Sanjay Pharma Distributors	No	Not Approved by H.O.D. Urology			LLY NON- E TENDER	
85	Ureteric Catheter s both	3Fr	Single piece	50	M/s. Sanjay Pharma Distributors	No	Approved by H.O.D. Urology	Biorad	79.00	3950.00	L1
	end open				M/s.Devon Innovations Pvt. Ltd	No	Approved by H.O.D. Urology	DEVON	87.03	4351.50	L2
		evaluated the price									
price 86	ureteric Ureteric	M/s. Sanjay Phar 4Fr	Single	tors as lov	M/s. Sanjay	price ai	Approved	accept the s	ame.		
80	Catheter	411	piece	30	Pharma	No	by H.O.D.	Biorad	79.00	3950.00	L1
	s both		_		Distributors		Urology				
	end				M/s.Devon		Approved				
	open				Innovations	No	by H.O.D.	DEVON	87.03	4351.50	L2
The (Committee 6	evaluated the price	bids of the al	l bove tende	Pvt. Ltd erers and after e	l valuati	Urology on, the comm	ittee determ	ined the		
		M/s. Sanjay Phar									
87	Ureteric	5Fr	Single	500	M/s. Sanjay		Approved				
	Catheter		piece		Pharma	Yes	by H.O.D.	Biorad	79.00	39500.00	L1
	s both				Distributors		Urology				
	end				M/s.Devon Innovations	Yes	Approved by H.O.D.	DEVON	87.03	43515.00	L2
	open				Pvt. Ltd	res	Urology	DEVON	87.03	43313.00	L2
The C	Committee 6	evaluated the price	bids of the al	bove tende		valuati		ittee determ	ined the		
		M/s. Sanjay Phar									
88	Ureteric	6Fr	Single	50	M/s. Sanjay		Approved				
	Catheter		piece		Pharma	No	by H.O.D.	Biorad	79.00	3950.00	L1
	s both end				Distributors M/s.Devon		Urology				
	open				Innovations	No	Approved by H.O.D.	DEVON	87.03	4351.50	L2
	орен				Pvt. Ltd	110	Urology	DEVOIT	07.03	4331.30	LL
The C	Committee 6	evaluated the price	bids of the al	bove tende		valuati		ittee determ	ined the		
_		M/s. Sanjay Phar		1	west evaluated	price ai	nd decided to	accept the s	ame.		
89	Uromete	Urine	Pack of 1	100							
	r	Collection bag 2000ml with			M/s.Devon		Approved				
		measured			Innovations	Yes	by H.O.D.	DEVON	75.43	7543.00	L1
		Volume Meter			Pvt. Ltd		Urology				
m		250ml									
The c	committee d	ecided not to accep Maxi Silicon	ot Single Pric	e Bid.							
		2.5mm									
90	Vessel	X1.02mm	1X 10 per	100			NO TENI	DERS REC	EIVED		
ĺ	Loop	Length	Box								
<u> </u>		16"/40cms				_				1	

DIA	LYSIS										
91	A.V.Fist ula Needles	16G	pairs	7000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Nephrolog	Advance Life Sciences Pvt. Ltd. - AD- Fusion	29.12	203840.0	L1
		ecided not to accep			1		T	A 1			
92 The	A.V.Fist ula Needles	17G	pairs	5000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd		Approved by H.O.D. Nephrolog y	Advance Life Sciences Pvt. Ltd. - AD- Fusion	29.12	145600.0 0	L1
93	Acid	ecided not to accep 20 Litrs Can	Litre	70000	1						
93	Concent rate Solution for Bicarb Dialysis	20 Litts Call	Litte	70000	M/s. Shreyaas Enterprises	Yes	Approved by H.O.D. Nephrolog	SUSRU TA	19.52	1366400. 00	L1
	committee d	ecided not to accep	t Single Pric								
94	Antimic robial Impregn ated Triple Luman Catheter for hemodia lysis and high volume infuriou s	Radiogram size 12 Fr Length 15 Cm	Set	20	M/s. Sri Maruthi Pharma		Approved by H.O.D. Nephrolog y	VYGO N INDIA PVT LTD	4200.24	84004.80	L1
The o		ecided not to accep	t Single Pric	e Bid.	T						
95	Citroster	5Ltr/ can	can	80	M/s. Aims			Single Ten	der received		
96	Dialyser for Plasmap heresis	Polysulfone	Pack of One	50	M/s. Aims M/s. Shreyaas Enterprises	-	TECHNICA	LLY NON-	RESPONSI	VE TENDER	
97	Dialyser Tubings		Per piece	6000	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Nephrolog	BROW NDOVE	135.04	810240.0	L1
98	Dual Lumen Catheter Kit Straight tip\Curv ed lumen	ecided not to accep 8 Fr. (for Peadiatric use) ecided not to accep	Per piece	25	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Nephrolog y	Mahurka r 8Fr	3328.06	83201.50	L1

99	Dual Lumen Catheter with Kit Straight tip\Curv ed lumen	10 Fr. (for Peadiatric use)	Per piece	25	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Nephrolog y	Mahurka r 10Fr	3536.00	88400.00	L1
		ecided not to accep			Г	1	T	T	T		
100	Dual Lumen curved Catheter Kit	11.5Frx13.5cm Catheter, 18G x 7cm Introducer Needle; 0.038"x70cm J/straight stainless steel Guidewire, 10 Fr Dialator, 12F Dialator; with Dressing & Sealing Cap	Per Kit	2000	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Nephrolog y	Mahurka r Curved Kit	1930.65	3861300. 00	L1
		ecided not to accep				,			T.		
101	Dual Lumen Straight Catheter Kit	11.5Frx13.5cm Catheter, 18G x 7cm Introducer Needle; 0.038"x70cm J/straight stainless steel Guidewire, 10 Fr Dialator, 12F Dialator; with Dressing & Sealing Cap	Per Kit	200	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Nephrolog y	Mahurka r St. Kit	1877.90	375580.0 0	L1
		ecided not to accep			34/ 34	1					
102	Formali ne	37-40% (20 Ltrs-can)	Per Ltr.	2000	M/s. Max Pharma M/s. Nisha Pharmaceut icals M/s. Vijay Agencies		TECHNICA	LLY NON-	RESPONSI	VE TENDER	
103	Hydroge n Peroxid e	20% Vol:Vol (5Litre can)	Per Ltr	1200	M/s. Max Pharma M/s. Nisha Pharmaceut icals		TECHNICA	LLY NON-	RESPONSI	VE TENDER	
104	Low Flux dialyser for Hemodi alysis	1.4 m² surface area for single use steam sterilised		200	M/s. Aims			Single Ten	der received		
				l]		1	1			

105	Polysulf one Membra ne Dialyser	Polysulfone (for Peadiatric use)	Pack of One	75	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Not Approved by H.O.D. Nephrolog y				
106	Polysulf one Membra ne Dialyser	Polysulfone (Adult) (Surface Area 1.35m.sq)	Pack of One	5000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Not Approved by H.O.D. Nephrolog				
					M/s. Nisha Pharmaceut icals	Yes	Not Approved by H.O.D. Nephrolog				
107	Sodium Chloride +Sodiu m Bicarbo nate	235gm+600gm	Packets	12000	M/s. Shreyaas Enterprises	Yes	Approved by H.O.D. Nephrolog	SUSRU TA	30.60	367200.0 0	L1
The c	Sodium	lecided not to accept 6-7% Can of 20	ot Single Pric per Ltr.	e Bid. 2500			Approved				
100	Hypochl orite Soln.	Ltrs.	per Eur	2300	M/s. Shreyaas Enterprises	Yes	by H.O.D. Nephrolog	SUSRU TA	21.10	52750.00	L1
	(Bleach)				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd		Not Approved by H.O.D. Nephrolog				
		lecided not to accep	t Single Pric	e Bid.			,				
MIS	CELLANE	OUS		1							
109	Adhesiv e Plaster	10 Cm X 10m	Single Roll	200	M/s. Vimaldeep M/s. Vijay Agencies		TECHNICA	LLY NON-	RESPONSI	VE TENDER	
110	Antisept ic Liquid Soap for Handwa sh	Can of 5 Ltrs	Per Ltrs	400	M/s. Max Pharma M/s. R.S. Enterprises (Bangalore) Pvt. Ltd M/s. Vijay Agencies		TECHNICA	LLY NON-	RESPONSI	VE TENDER	
111	Autocla vable Silicon Coated Rubber Sheet	90cms X 10 Mtrs Roll	Per Mtr	1000	M/s. South India Surgical Pvt. Ltd		TECHNICA	LLY NON-	RESPONSI	VE TENDER	
I											

112	Blood Set		Single Set	3000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROYAL SURGI CARE	9.94	29820.00	L1
					M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	OYSTE R	13.926	41778.00	L2
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Sangofi x B	63.30	189900.0 0	L3
The C	Committee o	evaluated the price	bids of the a	bove tende	rers and after e	valuati	on, the comm	ittee determ	ined the pric	ces quoted by	M/s.
Sri M	Iaruthi Ph	arma as lowest eva	duated price	and decide	ed to accept the	same.					
113	BP Apparat	Compatiable with Dimond	Single	100	M/s. South India		SINO	GLE TEND	ER RECEI	IVED	

113	BP Apparat us Bulb	Compatiable with Dimond Spigmomanom eter	Single Piece	100	M/s. South India Surgical Pvt. Ltd	SINGLE TENDER RECEIVED					
114	BP Apparat us Cuff with Rubber Bag and Tubings Adult size	Compatiable with Dimond Spigmomanom eter	Single Piece	100	M/s. South India Surgical Pvt. Ltd		SINO	GLE TEND	DER RECE	IVED	
115	Candid Mouth Paint	30ml	Bottle	50	NO TENDERS RECEIVED						
116	Caps Disposa ble		Single Piece	50000	M/s. Sri Maruthi Pharma	Yes	Approved by MS (Make not metioned in the Sample Report)	YEGNA BIOSCI ENEC PVT LTD	0.99	49500.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS (Make not metioned in the Sample Report)	Suraksh a Apparels - Disposa ble Caps	1.74	87000.00	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. Sri Maruthi Pharma as lowest evaluated price and decided to accept the same.

117	Cloroxy lenol I.P. +Terpin eol	4.8%W/V+ 9.0% V/V, Can of 5 Ltrs	Per Ltrs	300	M/s. Sanjay Pharma Distributors M/s. Vijay Agencies	ŗ	TECHNICALLY NON-RESPONSIVE TENDER				
118	Compou nd Benzoin Tincture	400ml	Bottle	10	NO TENDERS RECEIVED						

119	Cotton Roll	500 gms gross	Single Roll	1000	M/s. Sri Maruthi Pharma	Yes	Approved by MS	PRABH ATH SURGI CAL COTTO N	118.00	118000.0	L1
The c		ecided not to accep	t Single Pric	e Bid.					I		
120	Cutting Needle 1/2Circl	No.12	Pack of 6	500	NO TENDERS RECEIVED						
121	Drip Set (Macro)	With Airvent	Single Pack	40000	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	OYSTE R	11.816	472640.0 0	L1
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Intrafix Safeset	83.08	3323200. 00	L2
		evaluated the price euticals as lowest e					on, the comm	ittee determ	nined the prior	ces quoted by	M/s.
122	Drip Set (Micro)	With Airvent	Single Pack	3000	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	OYSTE R	13.34575	40037.25	L1
		ecided not to accep			1			1	I		
123	E.C.G.E lectrode s		Single Pack	15000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS/3M INDIA LTD	3.52	52800.00	L1
The c		ecided not to accep	t Single Pric	e Bid.	1						
124	E.M.G. Electrod es	30 pieces per pack	Per Pack	3	NO TENDERS RECEIVED						
125	ECG Jelly	250gm / Bottle	bottle	200	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	NUSAA C MEDIE QUIPTS	22.48	4496	L1
		ecided not to accep			M/o Ni ob -						
126	Elastic Adhesiv e Plaster	10cm width X 4 meters Length	Single Pack	1000	M/s. Nisha Pharmaceut icals	Yes	Approved by MS	ANUSU YA	149.81	149810.0 0	L1
	B.P.				M/s. Sri Maruthi Pharma	Yes	Approved by MS	3M INDIA	194.58	194580.0 0	L2
		evaluated the price euticals as lowest e						ittee determ	nined the prior	ces quoted by	M/s.
127	Ether	400ml	Glass bottle	30	NO TENDERS RECEIVED						

128	Face Masks Disposa ble	Single Ply	Single piece	100000	M/s. Sri Maruthi Pharma	Yes	Approved by MS (Make not metioned in the Sample Report)	YEGNA BIOSCI ENCE PVT LTD	0.90	90000.00	L1
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS (Make not metioned in the Sample Report)	Suraksh a Apparels - Disposa ble Mask- qtd for 2ply	1.74	174000.0 0	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. **Sri Maruthi Pharma** as lowest evaluated price and decided to accept the same.

129	Formali n Tab.	Bottle of 100 Tab.	Per Tablet	1000	M/s. Vimaldeep	ŗ	FECHNICA	LLY NON-	RESPONSI	VE TENDE	R
130	Gloves (Examin ation)	Medium Size	single Glove	500000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Kurian Abraha m - Dexmed Examina tion Gloves Medium	1.79	895000.0 0	L1
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	YEGNA BIOSCI ENCE PVT LTD	1.84	920000.0	L2
					M/s. Venkateshw ara Enterprises	Yes	Approved by MS	Asma Rubber	2.32	1160000. 00	L3

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. R.S. Enterprises (Bangalore) Pvt. Ltd as lowest evaluated price and decided to accept the same.

131	Gloves Sterile	No.6	One Pair	10000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Kurian Abraha m - Caretex Sterile Gloves No.6	10.55	105500.0	L1
					M/s. Venkateshw ara Enterprises	Yes	Approved by MS	Asma Rubber	11.08	110800.0 0	L2
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	J K ANSEL L LTD	11.45	114500.0 0	L3
					M/s. Nisha Pharmaceut icals	Yes	Approved by MS	NECTA R LIFE SCIENC E	11.816	118160.0 0	L4

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. R.S. Enterprises (Bangalore) Pvt. Ltd as lowest evaluated price and decided to accept the same.

132	Gloves Sterile	No.6 1/2	One Pair	25000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Kurian Abraha m - Caretex Sterile Gloves No.6	10.55	263750.0 0	L1
					M/s. Venkateshw ara Enterprises	Yes	Approved by MS	Asma Rubber	11.08	277000.0 0	L2
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	J K ANSEL L LTD	11.45	286250.0 0	L3
					M/s. Nisha Pharmaceut icals	Yes	Approved by MS	NECTA R LIFE SCIENC E	11.816	295400.0 0	L4
		evaluated the price							ined the pric	ces quoted by	M/s.
133	Enterprise: Gloves	s (Bangalore) Pvt. No.7	One Pair	st evaluate 40000	a price and dec	ided to	accept the sa	me. Kurian			
133	Sterile	110.7	One I am	40000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Abraha m - Caretex Sterile Gloves No.6	10.55	422000.0 0	L1
					M/s. Venkateshw ara Enterprises	Yes	Approved by MS	Asma Rubber	11.08	443200.0	L2
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	J K ANSEL L LTD	11.45	458000.0 0	L3
					M/s. Nisha Pharmaceut icals	Yes	Approved by MS	NECTA R LIFE SCIENC E	11.816	472640.0 0	L4
		evaluated the price							ined the prid	ces quoted by	M/s.
134	Gloves Sterile	No.7 1/2	One Pair	25000	M/s. R.S.	iueu to	accept the sa	Kurian Abraha			
					Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	m - Caretex Sterile Gloves No.6	10.55	263750.0	L1
					M/s. Venkateshw ara Enterprises	Yes	Approved by MS	Asma Rubber	11.08	277000.0 0	L2
					M/s. Nisha Pharmaceut icals	Yes	Approved by MS	NECTA R LIFE SCIENC E	11.18	279500.0 0	L3
		evaluated the price			M/s. Sri Maruthi Pharma	Yes	Approved by MS	J K ANSEL L LTD	11.45	286250.0	L4

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. R.S. Enterprises (Bangalore) Pvt. Ltd as lowest evaluated price and decided to accept the same.

135	Glucose Strips	Box of 100 Strips	Per Strip	50000	M/s. Anupama Enterprises	Yes	Approved by MS	ACCUC HEK PERFO RMA ROCHE	10.55	527500.0 0	L1
The c	ommittee d Gluteral	ecided not to accep 2.45W/V	ot Single Pric 5ltrs. can	e Bid. 500				Torrel			
	dehyde Ethanol	Gluteraldehyde			M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Cosmeti cs - Tridex Plust 5 Ltr Jar	462.47	231235.0	L1
		ecided not to accep									
137	Hydroge n Peroxid e I.P.	100ml	Bottles	500	M/s. Max Pharma M/s. Nisha Pharmaceut icals M/s. Vijay Agencies	ŗ	TECHNICA .	LLY NON-	RESPONSI	(VE TENDE	R
138	Lignoca ine Spray	15%	Per Bottle	10			NO TENI	DERS REC	EIVED		
139	Liquid		Ltr.	500	M/s. Max						
139	Deterge nt		Lif.	300	Pharma M/s. Sanjay Pharma Distributors	ŗ	rechnica)	LLY NON-	RESPONSI	VE TENDE	R
140	Lysol Floor Cleanin g Solution	7%	Per Ltr.	100	M/s. Max Pharma M/s. Sanjay Pharma Distributors M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	ŗ	FECHNICA	LLY NON-	RESPONSI	(VE TENDE)	R
141	Micropo	2.5cm x 9.1m	Single	4000	M/s. Sri						
141	re Plaster	2.3cm x 9.1m	Roll	4000	Maruthi Pharma M/s. Sri Maruthi Pharma	Yes Yes	Approved by MS Approved by MS	3M INDIA /ROMS ONS	19.90	79600.00	L1
		ecided not to accep			· · · · · · · · · · · · · · · · · · ·	1		1			
142	Micropo re Plaster	5cm x 9.1m	Single Roll	2000	M/s. Sri Maruthi Pharma	Yes	Approved by MS	3M INDIA LTD/R	39.80	79600.00	L1
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	OMSO NS		. , 300.00	
		ecided not to accep			M/- C :						
143	Micropo re Plaster	7.5cm x 9.1m	Single Roll	1500	M/s. Sri Maruthi Pharma	Yes	Approved by MS	3M INDIA LTD/R	59.76	89640.00	L1
					M/s. Sri Maruthi Pharma	Yes	Approved by MS	OMSO NS	J7.10	070 4 0.00	
The c	ommittee d	ecided not to accep	ot Single Pric	e Bid.							

144	Nebulis er Mask Kit	Nebuliser with Aerosol Mask Elastic Strap	Single Kit	100	M/s. Sri Maruthi Pharma	Yes	Approved by MS	ROMSO NS/RO YAL		4	
		and 2.1 mtrs. Long multichannel tubing.			M/s. Sri Maruthi Pharma	Yes	Approved by MS	SURGI CARE PVT LTD	45.75	4575.00	L1
		cided not to accep			1	ı	T	T			
145	Needles for Glucom eter Pen (Gluco meter puncture Needle)	Compatiable with Glucostrips Quoted	Single Use	50000	M/s. Anupama Enterprises	Yes	Approved by MS	UNO ACCUC HEK ROCHE	4.50	225000.0 0	L1
		cided not to accep			1	1					
146	Polythelend covers - Big (Waste Management Purpose) As per the Specs of Pollution Control Board.	of 100) 40 Microns & above, Size: 22" X 30"	Kg	700	M/s. Max Pharma M/s. Sri Maruthi Pharma		ΓECHNICA	LLY NON-	RESPONSI	IVE TENDE	R
147	Polythelend covers - Big (Waste Management Purpose As per the Specs of Pollution Control Board.	of 100) 40 Microns & above, Size: 22" X 30"	Kg	500	M/s. Max Pharma M/s. Sri Maruthi Pharma	ŗ	ΓECHNICA	LLY NON-	RESPONSI	VE TENDE	R
148	Polythelend covers - Big (Waste Management Purpose As per the Specs of Pollution Control Board.	100) 40 Microns & above, Size: 22" X 30"	Kg	100	M/s. Max Pharma M/s. Sri Maruthi Pharma		FECHNICA:	LLY NON-	RESPONSI	IVE TENDE	R
149	Polythelend covers - Big (Waste Management Purpose As per the Specs of Pollution Control Board.	of 100) 40 Microns & above, Size: 22" X 30"	Kg	400	M/s. Max Pharma M/s. Sri Maruthi Pharma		FECHNICA)	LLY NON-	RESPONSI	VE TENDE	R

150	Polytheler covers - Big (Wast Managem nt Purpose As per the Specs of Pollution Control Board.	(Pack of 100) 40 Microns & above,Size: 22" X 30"	Kg	500	M/s. Max Pharma M/s. Sri Maruthi Pharma		ΓΕCHNICA	LLY NON-	RESPONSI	IVE TENDE	R
151	Povidine Iodine Ointment	5%	124g/tube	100	M/s. Vijay Agencies	ŗ	ΓECHNICA	LLY NON-	RESPONSI	VE TENDE	R
152	Povidine Iodine I.P.(Surgio 1 Procedur Paint)	ca re	500ml Bottle	1500	M/s. Sri Maruthi Pharma	Yes	Approved by MS	3M INDIA LTD	248.00	372000.0 0	L1
The c	Povidin e Iodine Solution (Scrub)	ecided not to accep 7.50%	ot Single Price 500ml Bottle	500	M/s. Sri Maruthi Pharma	Yes	Approved by MS	3M INDIA LTD	238.00	119000.0	L1
The c		ecided not to accep	ot Single Pric	e Bid.	I .	1					
154	Room Freshner	300 ml Container with Aerosol	Nos.	25		I	NO TENI	DERS REC	EIVED		
155	Ryles Tubes	14F	Single Piece	300	M/s. Sri Maruthi Pharma	Yes	Approved by MS	ROYAL SURGI CARE	7.06	2118.00	L1
		ecided not to accep		e Bid.							
156	Ryles Tubes	16F	Single Piece	200	M/s. Sri Maruthi Pharma M/s. Sri Maruthi	Yes Yes	Approved Approved	ROYAL SURGI CARE PVT LTD/R	7.06	1412.00	L1
					Pharma		by MS	OMSO NS			
The c	committee d	ecided not to accep	t Single Pric	e Bid.	<u> </u>	1	1	1.5			
157	Scalp Vein Sets	20G	Single Piece	1500	M/s. Sri Maruthi Pharma	Yes	Approved by MS	ROYAL SURGI CARE PVT LTD/R OMSO NS	4.35	6525.00	L1
The c		ecided not to accep		e Bid.	1						
158	Shaving Blade		Packet of 10	1000			NO TENI	DERS REC	EIVED		
159	Sodium Phospha te Enema	18gm/100ml	100ml- Plastic Enema Container	5000	M/s. Max Pharma M/s. Nisha	r	ΓECHNICA)	LLY NON-	RESPONSI	I VE TENDE	R
	B.P. (Proctol ysis Enema)				Pharmaceut icals		i ecinica	LLI NON-	REST UNSI	TENDE	IX.
i			i	1	1	1	1	1		l	

160	Strong Citrami de Solution	20%	400ml/ bottle	200	M/s. Max Pharma M/s. Vijay Agencies		ΓΕCHNICAI	LLY NON-I	RESPONSI	VE TENDE	R
161	Surgical Blade	No.10	Per Blade	500	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Magna Marketi ng - "Lister"	1.79	895.00	L1
		ecided not to accep				1					
162	Surgical Blade	No.11	Per Blade	10000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Magna Marketi ng - "Lister"	1.79	17900.00	L1
		ecided not to accep					T				
163	Surgical Blade	No. 15	Per Blade	4000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Magna Marketi ng - "Lister"	1.79	7160.00	L1
		ecided not to accep			T		T	1			
164	Surgical Blade	No. 20	Per Blade	500	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Magna Marketi ng - "Lister"	1.79	895.00	L1
		ecided not to accep						3.6			
165	Surgical Blade	No.24	Per Blade	2000	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	No	Approved by MS	Magna Marketi ng - "Lister"	1.79	3580.00	L1
The c	Insulin	ecided not to acception 1ml 31G		e Bid.		1					
166	Syringe	Needle	Single Pack	3000	M/s. Aims	,	TECHNICAI	LLY NON-I	RESPONSI	IVE TENDE	R
167	Syringes 2ml with	2ml 22G Needle	Single Pack	3500	M/s. Nisha Pharmaceut icals						
	22G Needle Disposa ble				M/s. Sri Maruthi Pharma	,	FECHNICAI	LLY NON-I	RESPONSI	IVE TENDE	R
1.60	a .	2 1245	a: 1	00000							
168	Syringes 2ml with 24G Needle Disposa ble	2ml 24G Needle	Single Pack	80000	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Omniva n 2ml	1.79	143200.0 0	L1
		ecided not to accep									
169	Syringes 5ml with 22G Needle Disposabl	5ml 22G Needle	Single Pack	5000	M/s. Nisha Pharmaceut icals M/s. Sri Maruthi	,	ГЕСНNІCAI	LLY NON-I	RESPONSI	VE TENDE	R
	e				Pharma					1	
170	Syringes 5ml with 23G Needle Disposabl e	5ml 23G Needle	Single Pack	100000	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Omniva n 5ml	2.32	232000.0	L1
The c	ommittee d	ecided not to accep	ot Single Pric	e Bid.		•		"			

					1						
171	Syringes 10ml with 21G Needle Disposa ble	10ml 21G Needle	Single Pack	6000	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Omniva n 10ml	3.90	23400.00	L1
172	Syringes	10ml 22G	Single	40000	M/s. Max						
	10ml	Needle	Pack		Pharma						
	with 22G				M/s. Maxlife						
	Needle				M/s. Nisha						
	Disposa				Pharmaceut		TECHNICA1	LLY NON-	RESPONS	IVE TENDE	R
	ble				icals						
					M/s. Sri Maruthi						
					Pharma						
172	G :	20, 1220	G: 1	20000							
173	Syringes 20ml with 23G Needle Disposa ble	20ml 23G Needle	Single Pack	30000	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Omniva n 20ml	7.92	237600.0	L1
		ecided not to accep		1			1		1		
174	Ultrasou nd Jelly		Can of 5 Ltrs	50	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Radiology	NUSAA C MEDIE QUIPTS	359.46	17973.00	L1
		ecided not to accep			T			T	T		
175	Uro Bag		Single Pack	10000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Urology (Brand - Steriwel Medicare)	NUSAA C MEDIE QUIPTS	13.48	134800.0	L1
					M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	OYSTE R	21.4165	214165.0 0	L2
					M/s.Devon Innovations Pvt. Ltd	Yes	Approved by H.O.D. Urology	DEVON	23.21	232100.0	L3
					M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Mansel - Vaidya's - Urnisac Special	23.44	234400.0	L4
		evaluated the price arma as lowest eva					on, the comm		ined the pri	ces quoted by	M/s.
176	Vaccum Suction Set		Pack of One Set	1500	M/s. Sri Maruthi Pharma	Yes	Approved by MS	ROYAL SURGI CARE	68.25	102375.0 0	L1
		evaluated the price			M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by MS	Mansel - Vaidya's Yankaur Suck Set	76.19	114285.0 0	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. Sri Maruthi Pharma as lowest evaluated price and decided to accept the same.

177	Washin g Soda		Per Kg	500	M/s. Max Pharma M/s. Sanjay Pharma Distributors	ŗ	FECHNICAL	LY NON-	RESPONS	IVE TENDEI	R
178	White Petroleu m Jelly	400gm	400gm Jar	50	M/s. Max Pharma M/s. Vimaldeep M/s. Vijay Agencies		ΓECHNICAL	LY NON-	RESPONS	IVE TENDEI	R
X.R	AY ACCES	SORIFS									
179	Biopsy Gun	18G X16cms	Single Piece	50	M/s. Sanjay Pharma Distributors M/s. Aims M/s. Nisha Pharmaceut icals	,	ГЕСНNІСАІ	LY NON-	RESPONS	IVE TENDEI	R
180	Comput erised Radiogr aphy Films	10" X 8"	Each Box (Box of 150 films)	20	M/s. Foress Healthcare LLP		SING	LE TENI	DER RECE	IVED	
181	Comput erised Radiogr aphy Films	10" X 12"	Each Box (Box of 100 films)	25	M/s. Foress Healthcare LLP		SING	SLE TENI	DER RECE	IVED	
182	Comput erised Radiogr aphy Films	14" X 14"	Each Box (Box of 100 films)	25	M/s. Foress Healthcare LLP		SING	GLE TENI	DER RECE	IVED	
183	Comput erised Radiogr aphy Films	14" X 17"	Each Box (Box of 100 films)	25	M/s. Foress Healthcare LLP		SING	SLE TENI	DER RECE	IVED	
184	Thermal Printer Paper For Urodyna mic Mechine	Box of 10 rolls	Per roll	150	M/s. Sri Maruthi Pharma	Yes	SI	NGLE TE	ENDER RE	CEIVED	
185	TRUS Biopsy Gun	18G X 20cms	Box (box of 5 pieces)	15	M/s. Sanjay Pharma Distributors M/s. Aims M/s. Nisha Pharmaceut icals		ΓECHNICAL	LY NON-	RESPONS	IVE TENDEI	R

DISP	OSABLES	FOR ANAESTH	ESIA & O.T	Γ.							
186	Aeromis t Venti	Adult	Per set	10	M/s. Sri		Approved by H.O.D.	ROMSO NS/RO			
	Nebulisi ng Set				Maruthi Pharma	Yes	Anaesthes iology	YAL SURGI	45.70	457.00	L1
							lology	CARE			
		ecided not to accep					T	T			
187	3 way		Pack of 1	1500	M/s. Sri		Approved	DOMGO			
	stopcoc				Maruthi	Yes	by H.O.D.	ROMSO	7.20	10800.00	L1
	k				Pharma		Anaesthes	NS			
							iology				
					M/s.		Approved	D:6:			
					Bangalore	Yes	by H.O.D.	Discofix	15.83	23745.00	L2
					Surgicals		Anaesthes iology	3-way			
The C	Committee	evaluated the price	hide of the al	ove tende	rare and after a	voluoti		ittaa datarm	inad the pri	cas quotad by	M/c
Sri M		arma as lowest eva					on, the comm	iiiiee determ	illieu ule pric	ces quoted by	101/5.
188	Disposa	with close		200	M/s.		Approved				
	ble	suctioning			Bangalore	Yes	by H.O.D.	DAR	1118.30	223660.0	L1
	Mechani	system			Surgicals	103	Anaesthes	DAK	1110.50	0	Li
	cal				Surgicals		iology				
	ventilato									ted for the ma	
	r circuit				M/s. Sri		Approved			HPD. Howev	
					Maruthi	Yes	by H.O.D.	APEX		nt Document	
					Pharma	103	Anaesthes	HPD		led. Hence, n	
					Timilia		iology			ered the same	
									techni	cal evaluation	n.
		ecided not to accep	t Single Pric					T			
189	Epidural	18G Tuohy		300	M/s.		Approved	Perifix		252200	
	Catheter	needle with			Bangalore	Yes	by H.O.D.	LOR	844.00	253200.0	L1
	Set	20G Catheter			Surgicals		Anaesthes	401		0	
		with 3 lateral					iology	VYGO			
		eyes + LOR Syringe +Filter			M/s. Sri		Approved by H.O.D.			202500.0	
		Syringe +rinter			Maruthi	Yes	Anaesthes	N INDIA	975.00	292500.0 0	L2
					Pharma		iology	LTD		U	
The (Committee e	evaluated the price	hids of the al	ove tende	rers and after e	valuati			ined the prid	res anoted by	M/s
		icals as lowest eval					on, the comm	ntice determ	inica the priv	ces quoteu by	141/34
190	HME		Pack of 1	500	Î		Approved				
	Filters				M/s.	Vac	by H.O.D.	Hgrobac	101.20	50640.00	т 1
					Bangalore Surgicals	Yes	Anaesthes	S	101.28	50640.00	L1
					Surgicals		iology				
					M/s. Sri		Approved				
					Maruthi	No	by H.O.D.				
					Pharma	110	Anaesthes				
					1 11411114		iology	PATES	OHOTED	FOR APEX H	1DD
					M/s. Sri		Approved	KATES	QUUILDI		пυ
					Maruthi	No	by H.O.D.				
					Pharma	110	Anaesthes				
					i nama		iology			1	I
		ecided not to accep					I	****			
191	IV	16G	Single	100	344 6 :		Approved	VYGO			
	Canula		Pack		M/s. Sri	.,	by H.O.D.	N	24.20	2120.00	
					Maruthi	Yes	Anaesthes	INDIA	21.38	2138.00	L1
					Pharma		iology	PVT			
								LTD			
					M/s.		Approved	V.c			
					Bangalore	Yes	by H.O.D.	Vasofix	34.66	3466.00	L2
					Surgicals		Anaesthes	16G			
Tha	Tommittee:	vvoluoto d the ami	hida af 4h a -1	20110 600 1-	,	rrolreat'	iology	ittaa data	inad tha me	age quetad 1	. M/~
ine (ommittee e	evaluated the price	dias of the al	oove tende	rers and after e	vaiuati	on, the comm	nitee determ	nnea the pric	ces quoted by	W1/S.

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by **M/s. Sri Maruthi Pharma** as lowest evaluated price and decided to accept the same.

192	I V Canula	18G	Single Pack	1000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	21.38	21380.00	L1
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Vasofix 18G	34.66	34660.00	L2
		evaluated the price arma as lowest eva					on, the comm	ittee determ	ined the pri-	ces quoted by	M/s.
193	I V Canula	20G	Single Pack	15000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	21.38	320700.0 0	L1
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Vasofix 20G	34.66	519900.0 0	L2
		evaluated the price						ittee determ	ined the pri	ces quoted by	M/s.
194	I V Canula	22G	Single Pack	4000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	21.38	85520.00	L1
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	VASOF IX 22G	34.66	138640.0	L2
		evaluated the price arma as lowest eva					on, the comm	ittee determ	ined the pri-	ces quoted by	M/s.
195	I V Canula	24G	Single Pack	1000	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	22.925	22925.00	L1
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Introcan W 24	40.94	40940.00	L2
		evaluated the price arma as lowest eva					on, the comm	ittee determ	ined the pri	ces quoted by	M/s.
196	PVC Endotra cheal Tube	No. 6-Cuffed	Tauted price	200	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	11580.00	L1
	with HVLP				M/s. Bangalore	Yes	Approved by H.O.D. Anaesthes	Curity	60.14	12028.00	L2

Sri Maruthi Pharma as lowest evaluated price and decided to accept the same.

197	PVC Endotra cheal Tube	No. 6.5-Cuffed		200	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	NECTA R LIFE SCIENC E	34.815	6963.00	L1
	with HVLP Cuff				M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	11580.00	L2
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Curity 6.5mm	60.14	12028.00	L3
		evaluated the price euticals as lowest e						ittee determ	ined the pri	ces quoted by	M/s.
198	PVC Endotra cheal Tube	No.7-Cuffed	ŗ	400	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	NECTA R LIFE SCIENC E	34.815	13926.00	L1
	with HVLP Cuff				M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	23160.00	L2
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Curity 6.5mm	60.14	24056.00	L3
		evaluated the price euticals as lowest e						ittee determ	ined the pric	ces quoted by	M/s.
199	PVC Endotra cheal Tube	No.7.5-Cuffed	varuated prio	600	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	NECTA R LIFE SCIENC E	34.815	20889.00	L1
	with HVLP Cuff				M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	34740.00	L2
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Curity 6.5mm	60.14	36084.00	L3
		evaluated the price euticals as lowest e						ittee determ	ined the pri	ces quoted by	M/s.
200	PVC Endotra cheal Tube	No.8-Cuffed		550	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Anaesthes iology	NECTA R LIFE SCIENC E	34.815	19148.25	L1
	with HVLP Cuff				M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	31845.00	L2
					M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Curity 6.5mm	60.14	33077.00	L3

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by M/s. Nisha Pharmaceuticals as lowest evaluated price and decided to accept the same.

201	PVC Endotra cheal Tube	No. 8.5-Cuffed		700	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	57.90	40530.00	L1
	with HVLP Cuff				M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes iology	Curity 8.5mm	60.14	42098.00	L2
		evaluated the price arma as lowest eva					on, the comm	ittee determ	ined the pri	ces quoted by	M/s.
202	Silicon	Size 1	Pack of 1	2	M/s. Sanjay	same.					
ļ	Larynge				Pharma						
ļ l	al Mask Airway				Distributors M/s.		TECHNICA	I I V NON	DECDANCI	WE TENDE	D
ļ l	Allway				Vimaldeep		TECHNICA	LL1 NON-	KESFUNSI	IVE LENDE.	N
ļ l					M/s.						
					Maxlife		T			1	
203	Silicon	Size 1.5	Pack of 1	2	M/s.						
203	Larynge	Size 1.5	Pack of 1	2	Vimaldeep						
	al Mask				M/s.	, '	TECHNICA	LLY NON-	RESPONSI	IVE TENDE	R
	Airway				Maxlife		1				ı
204	Silicon	g: 2	D1 £ 1	2	N //-						
204	Larynge	Size 2	Pack of 1	2	M/s. Vimaldeep						
ļ l	al Mask				M/s.	· '	TECHNICA:	LLY NON-	RESPONSI	IVE TENDE	R
	Airway				Maxlife						1
205	Silicon	Simo 2.5	Dools of 1	2	M/s.						
205	Larynge	Size 2.5	Pack of 1	2	Vimaldeep						
ļ l	al Mask				M/s.		TECHNICA:	LLY NON-	RESPONSI	IVE TENDE	R
	Airway				Maxlife						ı
206	Silicon	Size - 3	Pack of 1	2	M/s.						
200	Larynge	S1Ze - 3	Pack of 1	2	Vimaldeep						
ļ l	al Mask				M/s.	· '	TECHNICA:	LLY NON-	RESPONSI	IVE TENDE	R
	Airway				Maxlife						ı
207	0.1.	g: 4	D 1 C1) () () ()						
207	Silicon Larynge	Size - 4	Pack of 1	2	M/s. Sanjay Pharma						
ļ l	al Mask				Distributors						
	Airway				M/s.	,	TECHNICA	LLY NON-	RESPONSI	IVE TENDE	R
ļ l					Vimaldeep						
ļ l					M/s. Maxlife						
					IVIAXIIIC						
208	Spinal Needle Quinke	25G	Per Piece	500	M/s. Bangalore Surgicals	Yes	Approved by H.O.D. Anaesthes	Spinoca n 25G	48.00	24000.00	L1
					Surgicals		iology				
		evaluated the price			M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	108.23	54115.00	L2

The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the prices quoted by **M/s Bangalore Surgicals** as lowest evaluated price and decided to accept the same.

Banga							iology				
Banga	alore Surgi				M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	VYGO N INDIA PVT LTD	423.03	634545.0	L2
		evaluated the price					on, the comm	ittee determ	ined the pri	ces quoted by	M/s.
210	Tegader	icals as lowest eval			d to accept the	same.		23.4		1	
	m with Pad	6cms X 10cms.	Per Piece	200	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	3M INDIA /ROMS ONS	68.00	13600.00	L1
The co	ommittee d	ecided not to accep	ot Single Pric	e Bid.	•						
211	Venti Mask	Adult	Per Piece	50	M/s. Sri Maruthi Pharma	Yes	Approved by H.O.D. Anaesthes iology	ROMSO NS	176.65	8832.50	L1
The cc	ommittee d	ecided not to accep	ot Single Pric	e Bid.							
SUTU											
CHRC	OMIC CA	TGUT									
212	Chromic Catgut,	M 4237	Box (12 Foils	100							
	Size 3-0 with 20		Each Box)		M/s.		Approved				
	mm, 1/2		,		Johnson &	Yes	by H.O.D.	Ethicon	909.00	90900.00	L1
	Circle,				Johnson Ltd		Urology				
	Round										
	Body Needle										
The co		ecided not to accep	ot Single Pric	e Bid.							
	Chromic	M 4241	Box (12	20	M/- NU-1		A 1	DOLPH			
	Catgut,S		Foils		M/s. Nisha Pharmaceut	Yes	Approved by H.O.D.	IN	411.45	8229.00	L1
	ize 2-		Each		icals	108	Urology	SUTUR	411.43	6229.00	LI
	0 with		Box)		10410		0.0005	ES			
	30 mm, 1/2										
	Circle,				M/s.	.,	Approved	D4:	061.00	10000 00	
	Round				Johnson & Johnson Ltd	Yes	by H.O.D.	Ethicon	961.00	19220.00	L2
	Body				Johnson Ltd		Urology				
TDI -	Needle	4	111 01		1.2		.1	* *			3.7.
		evaluated the price euticals as lowest e						ittee determ	ined the pri	ces quoted by	WI/S.
	Chromic	CNW 4242	Box (12	10		ne sain		DOLPH			
	Catgut,S	01.11 1212	Foils		M/s. Nisha	37 -	Approved	IN	120.55	4205 50	т 1
	ize 1-0		Each		Pharmaceut icals	Yes	by H.O.D. Urology	SUTUR	432.55	4325.50	L1
	with 30		Box)		icais		Orology	ES			
	mm, 1/2				M/-		A				
	Circle, Round				M/s. Johnson &	Yes	Approved by H.O.D.	Ethicon	961.00	9610.00	L2
	Body				Johnson Ltd	108	Urology	Luncon	701.00	7010.00	LL
	Needle				, same an Liu						
The Co		evaluated the price	bids of the al	ove tende	rers and after e	valuati	on, the comm	ittee determ	ined the pri-	ces quoted by	M/s.

The c 216	20 mm Reverse Cutting Needle ommittee d Chromic Catgut, Size 4- 0, 20 mm, Round Body Needle	ecided not to accep 4287	Each Box) ot Single Pric Box (12 Foils Each Box)	e Bid. 5	M/s. Johnson & Johnson Ltd M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology Approved by H.O.D. Urology	Ethicon	1935.00	9675.00 9295.00	L1
The c	ommittee d	ecided not to accep	t Single Pric	e Bid.			1	1	1		
DOI 1	CLACTIA	I O1O (VICDAII)									
rUL	IGLACTIN	V 910 (VICRYL)									
217	Poliglac tin 910, Size 1 with	2347	Box (12 Foils Each Box)	50	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	569.70	28485.00	L1
	40mm, 1/2 Circle, Round Body Needle				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Solus 2347 - Box of 12	2029.82	101491.0 0	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	3919.00	195950.0 0	L3
		valuated the price						ittee determ	ined the pric	ces quoted by	M/s.
218	Poliglac tin 910, Size 2-0 with	euticals as lowest e 2317	Box (12 Foils Each Box)	50	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	633.00	31650.00	L1
	30mm, 1/2 Circle, Round				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s- Solus	2029.82	101491.0 0	L2
	Body Needle				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	3919.00	195950.0 0	L3
		valuated the price euticals as lowest e						ittee determ	ined the prid	ces quoted by	M/s.
219	Poliglac	2437	Box (12	50	idea to accept t	ine saiil					
	tin 910, Size 3-0 with 20mm, 1/2 Circle, Round Body Needle	2.57	Foils Each Box)		M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2749.00	137450.0	L1
The c		ecided not to accep	ot Single Pric	e Bid.	I	I	l .	I.	I		

220 The c	Poliglac tin 910,Size 4-0 with 16mm, 1/2 Circle, Round Body Needle	PNW 2305	Box (12 Foils Each Box)	50	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2424.00	121200.0	L1
221	Poliglac	2346	Box (12	50	M/s. Nisha		Approved	DOLPH			
	tin 910,Size 1-0 with		Foils Each Box)		Pharmaceut icals	Yes	by H.O.D. Urology	IN SUTUR ES	548.60	27430.00	L1
	30mm, 1/2 Circle, Round Body Needle				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Solus 2346 - Box of 12	2029.82	101491.0 0	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	3919.00	195950.0 0	L3
		evaluated the price euticals as lowest e					on, the comm	ittee determ	ined the pric	ces quoted by	M/s.
POL	YETHYLEN	NE									
222	Nylon, Size2-0 45 mm, 3/8	M 3336	Box (12 Foils Each Box)	50	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	369.25	18462.50	L1
	Circle,R everse Cutting Needle				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Nylus 3336 - Box of 12	568.65	28432.50	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1153.00	57650.00	L3
		valuated the price			rers and after e		on, the comm	ittee determ	ined the pric	ces quoted by	M/s.
223	Nylon,	euticals as lowest e M 3328	Box (12	se and dec	M/s. Nisha	ne sam	e. Approved	DOLPH			
	Size 3-0 with 70mm,		Foils Each Box)		Pharmaceut icals	Yes	by H.O.D. Urology	IN SUTUR ES	337.60	16880.00	L1
	3/8 Circle,R everse Cutting Needle		, ,		M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Nylus 3328 - Box of 12	558.10	27905.00	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1136.00	56800.00	L3
		evaluated the price euticals as lowest e						ittee determ	ined the pric	ces quoted by	M/s.

POL	YPROPYL	ENE (PROLENE	E)								
224	Polypro pylene, Size 1 with 1/2	M 843	Box	25	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	501.125	12528.12	L1
	Circle Round Body				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1994.00	49850.00	L2
		evaluated the price						ittee determ	ined the pric	ces quoted by	M/s.
225	Polypro pylene, Size 1-0 with1/2 Circle Round Body	e uticals as lowest e 846	Box	10	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Prolus 846 - Box of 12	1100.37	11003.70	L1
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2146.00	21460.00	L2
		evaluated the price			erers and after e		on, the comm	ittee determ	ined the price	ces quoted by	M/s.
Nisha 226	Polypro	euticals as lowest of CNW 841	evaluated prid	ce and dec		he sam		DOLPH			
220	pylene, Size 2-0 with	CIVW 041	Бох	3	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	IN SUTUR ES	580.25	2901.25	L1
	30mm, 1/2 Circle,R ound Body Needle				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s- Prolus 841 - Box of 12	1028.63	5143.15	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2146.00	10730.00	L3
		evaluated the price						ittee determ	ined the price	ces quoted by	M/s.
Nisha 227	Polypro	euticals as lowest of CNW 838	Box	te and dec	ided to accept t	he sam	e.	DOLPH			
221	pylene, Size 3-0 with	CITW 030	Вох	10	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	IN SUTUR ES	685.75	6857.50	L1
	20mm, 1/2 Circle,R ound Body Needle				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2716	27160	L2
	Committee e	evaluated the price						ittee determ	ined the prid	ces quoted by	M/s.
Nisha 228	Polypro	euticals as lowest e	evaluated prio Box	ce and dec	ided to accept t	he sam	e.				
	pylene, Size 4-0 with 20mm Round Body				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	5772.00	11544.00	L1
The c	Needle	ecided not to accep	t Single Pric	e Bid.							

Polymon PSS26 Blox S Polymon PSS26 Blox S Polymon PSS26 Blox S Polymon Round Blody Bouble Arm Needle	229 Polypro P 8556 Box 5											
Size 5-0 with 16mm. 1/2 Circle. Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 230 Polypro Size 6-0 with 13mm. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 231 Polypro Size 6-0 with 10mm. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 231 Polypro Size 6-0 with 10mm. Needle The committee decided not to accept Single Price Bid. 231 Polypro Size 6-0 with 10mm. Needle The committee decided not to accept Single Price Bid. 232 Polypro Size 6-0 with 10mm. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro Size 6-0 with 10mm. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro Size 6-0 S	229		P 8556	Box)	1						
With 16mm 1/2 1/												
Information												
1/2 Circle Round Body Dobble Arm Needle												
172						M/s.		Approved				
Care							Yes		Ethicon	5825.00	29125.00	L1
Round Body Double Arm Needle Body Bod												
Double								222087				
Name						1						
Needle N												
The committee decided not to accept Single Price Bid. Size 6-0 With Idom. Curved, Round Body Double Arm Needle Round Body Double Arm Needle Round Body Double Arm Needle Round Round Round Body Double Arm Needle Round Roun												
Polypro					<u> </u>							
Polymore Size 6-0 With 13mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 Size 1-0 With 10mm, Curved, Round Body Double Arm Needle Polymore Size 1-0 Size						T	ı	T-				
Size 6-0 with 3mm, Curved, Round Body Double Arm Needle Polypro Pylene, Size 7-0 with 10mm, Curved, Round Body Double Arm Needle Polypro Pylene, Size 6-0 with 10mm, Size 6-0 Round Body Double Arm Round Body Polypro Pylene, Size 6-0 with 10mm, Size 6-0 Round Body Polypro Pylene, Size 6-0 with 10mm, Size 6-0 Round Body Polypro Pylene, Size 6-0 with 10mm, Size 6-0 Round Body Polypro Round Body Polypro Pylene, Size 6-0 Round Body Polypro Pylene Round Body Polypro Pylene Round Body Polypro Pylene Pylene Pylene Pylene Pylene	230		8718	Box	60							
with 13mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 231 Polypro pylene, Size 7-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro pylene, Size 7-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene, Size 6-0 Each with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene, Size 6-0 Each Box)												
13mm, Curved, Round Body Double Arm Needle Round Rou												
Curved, Round Roun												
Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 231 Polypro pylene, Size 7-0 with 10mm, Needle The committee decided not to accept Single Price Bid. 232 Polypro 895 Foils Each with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro 895 Foils Size 6-0 Box 12 15 pylene, Size 6-0 Box 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 234 Polypro 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 235 Polypro pylene, Size 6-0 Box 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 236 Polypro pylene, Size 6-0 Box 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 237 Polypro pylene, Size 6-0 Box 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 238 Polypro pylene, Size 6-0 Box 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 249 Polypro Box 10mm, Curved, Round Box 10mm, Round Box										400:	293640.0	
Round Body Double Arm Needle Double Arm Needle Double Arm Needle Double Doub							Yes		Ethicon	4894.00		L1
Double						Johnson Ltd		Urology				
Arm Needle												
Needle												
The committee decided not to accept Single Price Bid. 231 Polypro pylene, Size 7-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro as 95 Box (12 15 Foils Size 6-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro as 96 Ros (Box 20 Johnson & Yes Johnson Ltd The committee decided not to accept Single Price Bid. 234 Approved by H.O.D. Urology The committee decided not to accept Single Price Bid. 335 Polypro as 3x6cm Box (Box 20 of 6 Reels) The Size Size Size Size Size Size Size Siz												
Polypro pylene, Size 7-0 with 10mm, Curved, Round Body Double Arm Needle Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Polypro pylene, Round Body Double Arm Needle Polypro pylene, Round Body Double Arm Needle Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Polypro pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Polypro pylene, Round Bo												
Pylene, Size 7-0 With 10mm, Curved, Round Body Double Arm Needle Size 6-0 Box (Bach Box) With 10mm, Curved, Round Body Double Arm Needle Size 6-0 Box (Bach Box) Box (Bach Box) Box (Bach Box) Round Body Pylene, Size 6-0 Box (Bach Box) Round Body Body Boulde Arm Needle Size 6-0 Box (Bach Box) Round Body Body Boulde Arm Needle Size 6-0 Box (Bach Box) Round Body Body Boulde Arm Needle Size 6-0 Size 6-0 Size 6-0 Size 8-0							ı	1	1	1		
Size 7-0 with 10mm, Curved, Round Body Double Arm Needle Round Body Double Arm Needle Round Body Double Arm Needle Round	231		2070	Box	5							
with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro Size 6-0 Each with 10mm, Curved, Round Body Phone Round Body Body Phone Round Body Phone Phone Round Body Phone Phone Round Body Phone Round Body Phone Round Body Phone Phone Round Phone												
10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Curved, Round Body Double Arm Needle Size 6-0 with 10mm, Round Body Double Arm Needle Size 6-0 with 10mm, Round Body Double Arm Needle Size 6-0 with 10mm, Round Body Double Arm Needle Size 6-0 with 10mm, Round Body Double Arm Needle Size 8-0 with 10mm, Round Body Double Ar												
Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro Pylene, Size 6-0 Each Box) Box (12 Each Box) Box (12 Indices and the price Bid. Curved, Round Body Body Box (12 Indices and the price Bid. 234 Polypro Pylene, Size 6-0 Each Box) Box (12 Indices and the price Bid. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 235 Polypro Pylene, Size 6-0 Each Box Indices and the price Bid. Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 247 Polypro Pylene Box (Box Of 6 Reels) Box (Box Of 6 Reels) The Size Box (Box Of 6 Reels) Box (Box Of 6 Reels) The Committee decided not to accept Bid. The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the												
Round Body Double Arm Needle The committee decided not to accept Single Price Bid. The committee decided not to accept								Approved				
Round Body Double Arm Needle The committee decided not to accept Single Price Bid. The committee decided not to accept		Curved,				Johnson &	Yes		Ethicon	8824.00	44120.00	L1
Body Double Arm Needle The committee decided not to accept Single Price Bid. 232 Polypro pylene, Size 6-0 Each with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro Needle The committee decided not to accept Single Price Bid. 234 Approved by H.O.D. Urology The committee decided not to accept Single Price Bid. 235 Polypro Pylene Hernia Kit Small Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the						Johnson Ltd						
Arm Needle Box (12 15 Foils Each Box) M/s. Johnson Ltd Johnson Ltd Yes Size Foils Sox (12 15 Box) Johnson Ltd Yes Size Foils Size Foils												
Needle Single Price Bid. Size 6-0 Si		Double										
The committee decided not to accept Single Price Bid. 232 Polypro		Arm										
Polypro pylene, Size 6-0 Solid Each Box Solid Each												
pylene, Size 6-0 with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size Size Size Size Size Size Size Size				ot Single Pric								
pylene, Size 6-0 with Box) M/s. Approved by H.O.D. Urology The Committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the	232		895	Box (12	15							
with 10mm, Curved, Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the M/s. Approved by H.O.D. Urology Bethicon 44477.00 67155.00 L1 Approved by H.O.D. Urology Bethicon 1709.00 34180.00 L2		pylene,		Foils								
10mm, Curved, Round Body Double Arm Needle Box (Box pylene Hernia Kit Small Size												
10mm, Curved, Round Body Double Arm Needle Box (Box pylene Hernia Kit Small Size		with		Box)								
Round Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro Sax6cm Box (Box of 6 Reels) Small Size Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the live live live live live live live liv						M/s.						
Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the Mrs. Size Size Size Size Size Size Size Size						Johnson &	Yes	by H.O.D.	Ethicon	4477.00	67155.00	L1
Body Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro Pylene Hernia Kit Small Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the M/s. Ves by H.O.D. Urology The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the												
Double Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the												
Arm Needle The committee decided not to accept Single Price Bid. 233 Polypro pylene Hernia Kit Small Size The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the Mrs. Size Small Size Sm												
The committee decided not to accept Single Price Bid. 233 Polypro 3x6cm Box (Box of 6 pylene Hernia Kit Small Size Si		Arm										
Polypro pylene Hernia Kit Small Size		Needle			<u></u>	<u> </u>						
Polypro pylene Hernia Kit Small Size	The c	ommittee d	ecided not to accep	t Single Pric	e Bid.							
pylene Hernia Kit Small Size						M/c N' 1		A 1	DOLPH			
Hernia Kit Small Size Reels) Reels) Reels) Reels) Reels) Reels) M/s. Johnson & Yes by H.O.D. Approved Johnson & Yes by H.O.D. Ethicon 1709.00 34180.00 L2 The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the							17.			654 10	12002.00	T 1
Kit Small Size							Yes			654.10	13082.00	LI
Small Size M/s. Johnson & Yes by H.O.D. Ethicon 1709.00 34180.00 L2 The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the				/		ıcals		Urology				
Size Johnson & Yes by H.O.D. Ethicon 1709.00 34180.00 L2 The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the						M/s.		Approved				
The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the							Yes		Ethicon	1709.00	34180.00	L2
The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the		-								2.27.00	2 1 2 3 3 3	_ _
	The C	The Committee evaluated the price bids of the above tenderers and after evaluation, the committee determined the										

POL	YDIAXON	E (PDS)									
234	Polydia xone, Size 1 with 40mm	9352	Box	10	M/s.		Approved				
	1/2 Round Body Heavy Needle 30 Cms.				Johnson & Johnson Ltd	Yes	by H.O.D. Urology	Ethicon	4236.00	42360.00	L1
		ecided not to acce			_						
235	Polydia xone, Size 3-0 with 20mm 1/2 Round	9237	Box	15	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	4554.00	68310.00	L1
	Body Needle										
The c		ecided not to acce	pt Single Pric	e Bid.	1	<u> </u>	<u>I</u>	I .	I		
236	Polydia	9201	Box	5							
200	xone, Size 5-0 with	,201	20.1	J	M/s.		Approved				
	13mm Curved Round Body with D Needle				Johnson & Johnson Ltd	Yes	by H.O.D. Urology	Ethicon	17058.00	85290.00	L1
The c	ommittee d	ecided not to acce	pt Single Pric	e Bid.							
SILK	REELS										
237	Black Braided Silk - Reels - Size 1-0		Box (Box of 6 Reels)	10	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2087.00	20870.00	L1
		ecided not to acce			1	1	T	Т	T		
238	Black Braided Silk - Reels - Size 1		Box (Box of 6 Reels)	10	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	2087.00	20870.00	L1
		ecided not to acce	pt Single Pric	e Bid.	T		T	T	T		
	CK SILK	14.5063	D - /P	100	-			DOLDII			
239	Blacksil k, Size 1 with 60mm,	M 5062	Box (Box of 6 Reels)	100	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	422.00	42200.00	L1
	3/8 Circle,C utting,				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Silkus 5062 - Box of 12	701.58	70158.00	L2

				1	M/s.		A				
					Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1424.00	142400.0 0	L3
The C	Committee e	evaluated the price	bids of the al	bove tende		valuati		ittee determ	ined the pric	es quoted by	M/s.
Nish	a Pharmac	euticals as lowest	evaluated price	ce and dec	ided to accept t	he sam	e.				
240	Blacksil k, Size 1-0 with 30mm,	M 5334	Box (Box of 6 Reels)	15	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	337.60	5064.00	L1
	1/2 Circle, Round				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1936.00	29040.00	L2
The C		evaluated the price	bids of the al	bove tende		valuati		ittee determ	ined the price	es quoted by	M/s.
		e uticals as lowest o							•		
241	Blacksil k, Size 3-0 with 20mm, 1/2Circl e, R/B	М 5087	Box (Box of 6 Reels)	10	M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Silkus 5087 - Box of 12	379.80	3798.00	L1
					M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	474.75	4747.50	L2
					M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	775.000	7750.000	L3
		evaluated the price							ined the pric	es quoted by	M/s.
242	Blacksil	s (Bangalore) Pvt. NW 5003	Box (Box	st evaluate 200	a price and dec	iaea to	accept the sa	me.			
	k, Size 3-0 with 16mm, 3/8 Circle, Cutting, Ethipri me Needle		of 6 Reels)		M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1189.00	237800.0	L1
The o	committee d	ecided not to accep	ot Single Pric	e Bid.	•	l.	11	I			
243	Blacksil k, Size 2-0 with 45mm,	CNW 5036	Box (Box of 6 Reels)	15	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	490.90	7363.50	L1
	3/8 Circle, Reverse Cutting				M/s. R.S. Enterprises (Bangalore) Pvt. Ltd	Yes	Approved by H.O.D. Urology	Lotus Surgical s - Silkus	559.15	8387.25	L2
	Needle				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	1137.00	17055.00	L3
		evaluated the price						ittee determ	ined the pric	es quoted by	M/s.
		euticals as lowest			ided to accept to	he sam	e.	DOI DII			
244	Blacksil k, Size 2-0 with Round	5331	Box (Box of 6 Reels)	10	M/s. Nisha Pharmaceut icals	Yes	Approved by H.O.D. Urology	DOLPH IN SUTUR ES	316.50	3165.00	L1
	Body needle				M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	881.00	8810.00	L2
		evaluated the price euticals as lowest						ittee determ	ined the prid	ces quoted by	M/s.

245	Sterilise d Surgical Suture (Braided Silk Black) 2 X 75 cm	No.1(215)	Box (12 Foils Each Box)	e Bid	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	340.00	8500.00	L1
246	Sterilise	No.1-0(214)	Box (12	40	1						
	d Surgical Suture (Braided Silk Black) 2 X 75 cm		Foils Each Box)		M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	317.00	12680.00	L1
		ecided not to accep									
247	Sterilise d Surgical Suture (Braided Silk Black) 2 X 75 cm	No.2-0 (213)	Box (12 Foils Each Box)	30	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	294.00	8820.00	L1
The c		ecided not to accep									
248	Sterilise d Surgical Suture (Braided Silk Black) 2 X 75 cm	No.3-0(212)	Box (12 Foils Each Box)	100	M/s. Johnson & Johnson Ltd	Yes	Approved by H.O.D. Urology	Ethicon	294.00	29400.00	L1
The c	committee d	ecided not to accep	t Single Pric	e Bid.		•					
SUT	URE NEEI	OLE									
249	Suture Needle 1/2 circle Curved Cutting No. 8	Pack of 6 pieces	Per Pack	150			NO TENI	DERS REC	EEIVED		
250	Suture Needle Curved Cutting No. 9	Pack of 6 pieces	Per Pack	150			NO TENI	DERS REC	EIVED		

The Committee decided to procure the items which are not approved / not quoted by the tenders through quotations / public sector units / KCCF / Manufacturer's / Authorised Dealers till the completion of processing and accepting the tenders to be invited.

The meeting concluded with vote of thanks to all the participants.

Sd/(DR. G.K.VENKATESH)
Director,
I.N.U & Chairman
Tender Accepting Committee.